RATIO & PROPORTION
(3r7uTd Ugd gHI-UTd)

14

YEAR: 1999
1. Ifa:b=7:9andb:c=5:7,
then what 1s a : c?

A a:b=7:98M b:c=5:7,5

a :c 9 Bm?
(a)5:9 (b) 3:5
(0) 7 : 21 (d) 7: 15

1 1
2. If x=—Yand Y =—2, then x:
3 2

Y: 2, is equal to
1 " 1
aﬁx_=§ yaﬂ?y=5 z,d9 X:y

: z foFYs seY By
(a)3:2:1 b)1:2:6
()1:3:6 (d)2:4:6

3. The ratio of two numbers is 3 : 8
and their difference is 115. The
smaller of the two numbers is :
3 demsd 1 SO 3 : 8 & SR
FR 115 %1 1 78 @ S wen wh
(a) 184 (b) 194 (c¢) 69 (d) 59
(SSC CGL Pre. Exm 1999)

4.  Four numbers are in the ratloflm'

2 : 3 : 4. Their sum 1s ! 'Ilher
sum of the first and fg}; ) hrm-

ber is equal to: Cr

7 Heam 1: 2 &fﬁ%mnﬁ|
I A 1681 e it et den
4qm E‘I"TIT &

(a) 5 rb}us o(c) 10 (d) 80

(SSC CGL Pre. Exm 1999)

5. A and B have money in the ra-

tio 2 : 1. If A gives "2 to B, The
money will be in the ratio 1 : 1.
What were the initial amounts
they had ?
AR B 9™ 2: 1 Hquid § ufer 1
afs A, B 12 Za1 ¢ qf ufer w1 s|ue
1: 1@ st yEeTd |, 39 U
F91: TR ofy <7
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(@) 12 and " 6(b) " 16 and " 8 (b) * 200, 900, 150
(c) 8 and '4 (d) 6 and * 3 (c) * 150, 800,,{300
(SSC CGL Pre. Exm 1999) (d) * 200, 9gﬁ H5

* 180 contained in a box YEKR -»2{)00

consists of one rupee , 50 paise
and 25 paise coins in the ratio
2 : 3 : 4. What is the number of
50 paise coins ?

T T ¥ 180 @ W fF uE ww,
50 ¥ 3t 25 % fa ® w0 247

9. Ifp.; q—~—-T.»fs—t u=2:3, then
[mp +nxﬂ-0t] [mq+ns+ou] 1s

ol aid

M"Tﬁ(p q=r:s=t:u=2:38 @
“(mp + nr + ot) : [mq + ns + ou)

faarrl 1 HE F SO 2 3 aq:%ﬁ}w AELAL IR |
50 49 % fomi = wem FAAL ) a] 1:9 (b) 1:2
()2 :3 (d) 3:2

(a) 60 (b) 120 (c) 150, (d} 180
By mistake 1nstea,ﬂﬁfof d;v‘fd_mg
*117 among A B and @ in the

10. Ifx:y=3:1,thenX®—1: ¥ +1f=?
M x:y=3: 178

. (¢ —37) : (0@ +y) | B
ratio Ly (a) 13 : 14 (b) 14 : 13
N t}"‘"m 3.4 Wh (c) 10: 11 (d) 11 : 10
the ratio\o o gains :
11. The fourth proportional to
2
tj:le i:fgsf and by how much 12,218 is:
“"-"‘_r*j‘f'm‘lrrmaﬁ 1,11 S 12,21, 8 %1 =qd (IqAFYE) FHEI
CON 2 3 4 Rt
Wﬁﬁﬁ‘ﬁ’ﬂﬁhlﬁ2:3:43ﬁqlﬁff (a) 8.9(b)56 (c) 14 (d) 17
e mﬁ?l;ﬁ: ) ?‘%'R'?i LR 12. The ratio 2'° : 2°% is the same as :
i o 215 : 205 UK ferseh AUSL I
(a) A, * 28 (b) B, "3 '
) C,"20  (d)C," 25 s 1 () 1
Divide * 1250 among A, B, C so €)6:1 (d) 3:2
9 13. Hm:n=3:2, then (4m +5n) : (4m
that A gets 5 of B’s share and e,
3 e m:n=3:274d (4m + 5n) :
C gets > of A's share, (4m — 5n) T T
1250 %t fn W A, Bl CH ™ (2)4:9 (b)9:4
5 (€)11:1 (do:1
TR faufad 0 #1 A %1 B # 9 14. The sum of two numbers is 40

and their difference i1s 4. The

ratio of the numbers 1s :

ﬁmﬁ?‘nafn(:afmm% o foel
(a)

£ 200 800, 250 g HEAH w1 A 40 €1 IR AW 4

| 727
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£ 1 ST FIIA T4 B

(a) 21: 19 (b)22:9
(c)11:9 (d)11:18
(SSC CGL Pre. Exm 2000)

How many sides does a regular
polygon have whose interior
and exterior angle are in the

ratio 2 : 1?2

TF GBS & 3d: FU AR ST F0 H
A 2 : 1 & d g i g | )
(a3 ()5 (c)6 (d) 12

The smallest integer, which
subtracted from both the terms
of 6 : 7 gives a ratio less than
16 : 21 is :

o€ F99 B den g F4 g 6: 7
F <A1 gEmE ¥ 9 TeH W aTe 16
: 21§ %W 9

(a5 ()4 (¢)3 (d)2

A man leaves ' 8,600 to be
divided among 5 sons, 4
daughters and 2 nephews, If
each daughter receives four
times as much as each nephew
and each son receives five
times as much as each
nephew, how much does each
daughter receive ?

uF AfF A 8600 Hi s H
5 &, 4 g, 2 wdisi ¥ @@ 71 A
YAE T, TAF WAl ¥ 9N T O
o FL SR T A, TeE e 9 5

mmmaﬂmmgﬁmm_'_

o Y
\ o

BTy

(a) * (b) * 600, .. NS
(c) * 800 (d) * 1000™~
Harsha is 40 years ol and Ritu
is 60 years old. many years

ago was the
3:57?

&9l =i ﬂrg,-@oagﬁﬁnﬁqzmanqm
aﬁ%lfﬁﬁﬁwwaﬂﬂaﬂm
3:59g

(@) 10 years

}0ﬁ their ages

(b) 20 years
(c) 37 years (d) 5 years
Four years ago, the ratio of the
age of A and Bwas 2 : 3 and after
four years it will become 5 : 7.
Find their present age.

R He Teel A @ B # 31Y F 3A9E
2:3M AR WA AR A 5: 7 A

728 |

20.

21.

22,

S B dd AR FAHE g T
|a) 36 years and 40 years

(b) 32 years and 48 years

(c) 40 years and 56 years

([d) 36 years and 52 years

The ratio of two numbers is 10
: 7 and their difference is 105.
The sum of these numbers is
2 wemst #1 s 10 : 7€ ok s
#<R 105 © & "ensi #1 4 3 #
la) 595 (b) 805

(c) 1190 (d) 1610

(SSC CGL Pre. Exm 2002)

Two numbers are in the ratio
5 : 7. On diminishing each of
them by 40. they become in the
ratio 17 : 27. The difference of
the numbers is :

< e 5 : 7 sua W 21 Ak 3= S
H | 40 =erd sy @ SR sI| 17

25.

26.

much grams of copper be added
to make the ratio as 3 : 5?

uw fagag § fis i #w &1 2uE
5: 3% @R fagng =1 9w 200 79 &,
@ frat om Fiw R fyemn s w5t
U 3 : 5 8 S

(a) 133 - (b) —
3 200
(b) 72 (d) 66

The ratio of copper and zinc in
brass is 13 : 7. How much zinc
will be there in 100 kg of brass?

100 fereirm 5w \;ﬁm 3w fi= 13
:TH %, i Eicfeads

(@) 20 ke. m«?b) 55 k.

) 35 kg’ ;¥ (d) 40 kg,

Divide. . 500 among A, B and

o swl that A’s share to B’s
r}s ate is m the ratio 5 : 2 and

27mm€|mmwaﬁﬁw’f

(a) 18 (b) 52
(SSC CGL Pre. Exm 200 \:{)
Two numbers are m thq

gf}:ghese is
tl’ley become in

(c) 13?[d]

1-—12— When e
3

increased by

the ratio “Ié—‘\,ﬁ

of th} lgx_],Bers is :

2
?T’Tﬂ%ﬁ 15125’ ﬁmﬁ%lqﬁ

. The greater

\gﬁmaﬁlsﬂmmmm

v

23.

24.

agmﬁlgﬂa e S ® @ W
e 7 H
(a) 27 (b) 36 (c) 48 (d) 64

(SSC CGL Pre. Exm 2002,20035)

The students in three classes
are in the ratio 2 : 3 : 5. If 20
students are increased in each
class, the ratio changes to4 : 5
: 7. originally the total number
of students was :

afg @19 wansi # o w1 AquE 2 ¢
3:5 2 afz 20 3 s Fanat §
AR o W, d aqua 4:5: 7@
ST 21 @ YEA § el o fhad 9
(a) 50 (b) 90 (c) 100(d) 150
(SSC CGL Pre. Exm 2002)

Zinc and Copper are in the ratio

of 5: 3 1n 200 gm of an alloy. How

}».»;

28.

29.

33.

Copyright © All Rights Reserved | https://spardha.guru/

s share to C’s share 1s in the
13. how much will B
receive ?

7500 1 A, B 3R C ¥ fawfoa fean
W ¥ AR A B TS 2 F
aFaE § ¥ oM B @i C = femm 7: 13
% 3ad | €, d B 9 fFa wr gan?
(a) * 1,400 (b) * 3,500

(c) * 2,600 (d) * 7,000

ratio 7 :

A and B together have ' 158, C
has * 101 less than what A and
B together have, and B has *
23 more than C. The amount

of A is :

A3RB® 791583 C % TH A
¥ B #1 %o I ¥ 101 %9 ® &R
B# 9 C ¥ 23 afus &, 91 A &1
fewm sma FY?

(a) * 80 (b) * 78
(b) * 57 (d) * 88
YEAR: 2001

Three numbers are in the ra-
tio of 3 : 2 : 5 and the sum of
their squares 1s 1862. The
smallest of these numbers is
A dEmed w1 FIE 3 2: 52 @i
I A 1 G 1862 &, a1 g Bidl
A FA?

(a) 24 (b) 21 (c) 14 (d) 35
(SSC CPO S.I Exm 2003)

The income of A, B and C are
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35.

36.

37.
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in the ratio 7 : 9 : 12 and their
spendings are in the ratio 8 :9

1
: 15. If A saves Zth of his in-

come then the saving of A, B
and C are in the ratio of :

A, B 3R CHl 9 7:9:12 % o A
% s 373 e ouE 8:9:15 #

afc A o 2 Eﬁl%iﬁ fezmr a=a
F §, dl A, B @t C %l w=d @
SIE 4 HL?

(2) 56:99: 69 (b) 69 :56:99
(c)99:56:69 (d)99:69: 56
If 378 coins consist of 1 rupee,
50 paise and 25 paise coins,
whose values are in the ratio
of 13 : 11 : 7. The number of 50
paise coins will be:

378 foai % & 4w w9, 50 9
qar 25 T % fo & foAe @@
13:11:7 % &9m § &, 91 50 ¥ &
foaeri =t den 3| w12

(a) 132 (b) 128 (c) 136 (d) 133

* 3400 1is divided among A, B,
C, D in such a way that the
share of A and B, B and C, C
and Dmay beas 2: 3, 4: 3 and

2 : 3 respectively. The sum of
shares of B and D 1s.

‘3400 # A, B, C 3t D ¥ fawfaa
fm mam faed A 3R B, B s C, C
ST D & WA F AU HAN: 2:3,
4:3 3 2:3%, B sk D F feemi 1
I foFaT 27

(a) * 2040 (b) * 1680

(c) * 2000 (d) * 1720 f

A sum of * 370 1s to be diwi Q,}
among A, B and C sg@l

A's share _ B's %re
B's share C &"share 4’
A’s share | Upees ) is
370 #t A, B #ft\C {iew vy fafsm

Am fgEm Bl fsw
B= o= Ca1 feem
=%31.H?Am%mamaﬁ'?

(a) 240 (b) 120 (c) 100 (d) 90
Two numbers are in the ratio 17 :
45. One-third of the smalleris less

[ERERICS

1
than — of the bigger by 15. The

2

smaller number is

@ Heam 17 : 45 & ey § 7 S

40.

41.

42.

. 43. f A:B=3:4,B:C=5:7and C
dems — S amasigen $ — o :D=8:9then A: D is equal to
3 : 5 :
" . . A A:B = 3: 4, B:C = 5:7 21Tt C:D
7 "
G § 15 %9 2, @ S qem 7 . 5
(a) 252 (b) 671 (@) 3:7 (b) 7:3
2 2 (c)21: 10 (d) 10 : 21
1 1 44, 94 1s divided into two parts in
[c) 76 2 () &8 2 such a way that the fifth part of
YEAR : 2002 the first and t]:.le eighth. part of
the second are in the ratio 3 : 4.
The first part is :
A man spends a part of his 94 1 J T A T FHER Feam
monthly income and saves a part
of it. the ratio of his expenditure T T e qﬂ%é% R TH
to his saving 1s 26 : 3. If his ‘;} \w}“
monthly income is * 7250. what g’“
is the amount of his monthly = EIT "ﬂm ?ﬁréﬂﬂ_tﬂﬁ 3:4 % 2, q ween
savings ? ,X
il m@m‘

T AR AT AIfE A F FS A
W FIE T AN HP G A 2

@a‘iﬁaaﬁ@ﬁmwmmfé

26:3 #1 3k F@ m“?zsog,g@»;
T oA T4 B ; o/
(a) * 350 " 290,

(c) * 750 780

gt oty 05M13{1ng of
one rupee, ~paise and 25
paise coir;gm.\ e’ratio of their
numberg- gﬁlﬁit orderis 8 : 5 :

3.7 nq}nber of one-rupee
c01{ f'é).

ﬁ?ﬁ‘ﬂﬁ oF o #, S o w,
"*;S&'ﬁ@ 3ﬁ125ﬁ'a’la3’maaﬁa?mq
~ (R ik femet 71 G 8:5:3 % s
2, @tk ' # e w5 owen
A w7
() 80 (b) 112 (c) 160 (d) 172
An amount of money is to be
distributed among P,Q and R in
the ratio of 2 : 7 : 9. The total of
P’s and Q’s share is equal to R’s
share. What is the difference
between the shares of P and Q?
TR F1 P, Q @R R #2:7:9
S | fasyfer fean mm afz P @k Q
*1 %o feedl R f&el & sua &, @i P
AR Q & fexdl F1 o 7@ HL?

* 5000

(b) * 7500

(c) * 9000

(d) Information inadequate

YEAR : 2003

There are

(a)

Copyright © All Rights Reserved | https://spardha.guru/

46.

2 ol

48.

;{9\36 (bl 36 (c) 40 (d) 28
145

a:b=5:7and c:d=2a:3b
then ac : bd is :
a5 a:h = 5:7 iR c:d = 2a : 3b 79
ac:bd 1 &2
(a) 20 : 38 (b) 50 : 147
() 10: 21 (d) 50 : 151
Ifaab=b:c, thena*: b*isequal to
afg a:b = bic %, @@ (a*:b%) H A
TR FHL2

(a) ac : b? (b) a2: c?
(c) c2 (d) b?: ac
1 3 1 5
IfA:B=—:— B:C= —:—
2 8 3 9
5 3
andC'D=g i then the ra-
tioA:B:C:Dis
13 15 .
aE A:B = —: y B:C = —i— 3T
28 39
2 3
CD= — ¥, a AB:C:D
HLUTA 1A w?
(@a)6:4:8:10(h)6:8:9:10

(c)8:6:10:9(d) 4:6:8:10
HA:B:C=2:3:4, then ratio

A B C |

5 & & is equal to

G A:B: C=2:3:4%, 4t

A B C _

——— = ?

Y F ST TG FL

(@) 8:9:16 (b)8:9:12
|"729
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50.
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52.

53.
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(€} 8:9:24 (d)4:9:12
Ifa:b=c:d=e:f=1:2,then
(3a +5¢c +7e) : (3b +5d +7f) 1s
If acb = c:d = ef = 1:2 2,
(3a+5c+7e):(3b+5d+71) I TH F Hi7
(@) 8 :7 b)2:1

(©1:4 (d)1:2

The ratio of the present age of
Puneet and Appu is 2 : 3. After
3 years the ratio of their age
will be 3 : 4. The present age of
Puneet is:

BRI e I
2:3 %1 HIel a1% STHT 3 F I
3:4 g1 w1 ¥, A g A g e
FL7

(a) 3 years (b) 6 years

(c) 9 years (d) 4 years

Of the three numbers, the ra-
tio of the first and the second
is 8 : 9 and that of the second
and third is 3 : 4. If the product
of the first and third number is
2400. then the second number
is :

A wemel ¥ geett ofi gEA wemer
1 0 8:9 2 iR @i o dfrwd
o 3:4 21 afg weelt @i ded w
TR 2400 &, @ I gem S|
L7

(a) 45 (b) 40 (c) 24 (d) 10
(SSC CPO S.I Exm 2005)

Two numbers are 1 the ratio 2
: 3. If 2 is subtracted from the

first and 2 is added to the sec-.
the ratio becomes 1 : 2%,
The sum of the numbers ig j

ond .

oy @ weme w1 I 28R
TEE W2 R S S ZGH W2 e

S, | e 1:2 € ﬂ"' et
I W F /m

(a) 30 (b) 28 kﬁfé} (d) 10
(SSC ¢ . Exm 2005)
Three numbers are in the

. 1 2 3
ratio —:
2

. The difference

between the greatest and the
smallest number is 36. The
numbers are

1 2 3
A G ] % ora § 2| 9

gag 92 Hen dr gy 2e e @

730 |

57.

58.

R 36 &, @ wEAa FW F?

(a) 72,84,108 (b) 60,72,96
() 72,84,96  (d) 72,96,108
(SSC CGL Pre. Exm 2005)
The ratio of income of two
persons is 5:3 and that of their
expenditures 1s 9 : 5. If they save
* 2600 and * 1800 respectiv-
ely.Their incomes are :

afg 31 =afaal #1519 5:3 F & §
& 3l 391 @ 9:5 % U ° &1 4
3 wue: 2600 X 1800 H ==E
FH &, A SR A A B

(a) * 8000 : * 4800
(b) * 6000 : * 3600
(c) * 10000 : * 6000
(d) * 9000 : * 5400

The monthly income of two
persons are in the ratio 2 : 3
and their monthly expenses are
in the ratio 5 : 9. If each of th
saves ' 600 per month, then

monthly incomes are \"‘"

mwﬁﬁa’iﬁmﬁiﬁdmzaaﬁdﬁw

ﬁ%laﬁmmsﬁl“ 15)9 ¥
afs 9w 600 Ft a9a ywwn 8, at
TR S FAEDY

(a) * 1,500 2“2’250

(b) ' 1 260 w4 1,800
(<) ¢T3 tr“’ 2,400
(d).\1J400 : * 2,100

SQ—»Q‘I‘,},].é ratio of the first and

P P
{ (/second

%
sl

class train fares
between two stations is 3 : 1
and that of the numbers of
passengers travelling between
the two stations by first and
second classes1is 1 : 50. If on
a particular day. ' 1,325 are
collected from passengers
travelling between the two
stations. Then the amount
collected from the second class
passengers is

el S s gl dh B FEE
s 3 1, SN Teel g0t SR g
goft § | F @ WO F oA 1
: 50 %1 Afx v favim T 1325 F
Fa frn agen w0 A Eh Ao §
aga fFar o Fw e 3| #7
(@) ' 1,250  (b) * 1,000

(c) * 850 (d) * 750

60.

61.

o

62{\

YEAR: 2004
If p:q:r=1:2:4, then

J5p2 + g2 + r2 isequal to

9 p:q:r=1:2: 4,

-\||5p2 +q2+r2 & T
(@) 8 (b)2g (c) Sp (d) 4r

The mean proportion between
(3+\E) and (12 —@) s
(3++2) =it ;( -V32) =
AT 1 ﬁi

@ V7 ?“\Jﬁi 247

(CI% ‘\\f:s} ‘& 15 - 342

oW

T\I"ie ratio of the number of boys

GE]

\«&d that of girls in a school hav-

63.

65.

66.
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ing 504 students 1s 13 : 11.
What will be the new ratio if 3
more girls are admitted ?

F@ 504 BEl 4 T=Hl 9 w2 w
Ium 13 : 11 %1 7fz 3 wefrar i an
ST G A S| T HL

@) 7:6 (b)6:7

(€) 10:11 (d) 13 : 14

(SSC CGL Pre. Exam 2002)
The ratio of the number of la-
dies to that of gents at a party
was 3 : 2. When 20 more gents
joined the party, the ratio was
reversed. The number of ladies
present at the party was

e wid H ufgens st e & s 3
: 281 FfE 20 3w gEY o1 W@ T d@ s
2 : 31 Sl &1 i Afecwed #1 Hen 7 F4
(@) 36 (b) 32 (c) 24 (d) 16
(SSC CPO S.I1 Exam. 2006)

A man has in all * 640 in the
denominations of one-rupee,
five-rupee and ten-rupee notes.
The number of each type of
notes are equal. What is the
total number of notes he has ?
TF A & 99 640 U w9¢, UiE
®uC AR 10 % A& % w9 § 81 6w
T YR F Al THF e | € d w5
il i Hem 9|

(a) 150 (b) 120 (c) 100 (d) 90
A bag contains three types of
coins 1 rupee-coins, 50p-coins
and 25 p-coins totaling 175

www.spardha.guru
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68.

69.

70.
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coins. If the total value of the
coins of each kind be the same,
the total amount in the bag is
UF A UE B, 50 Y25 W
faash €1 = faes 175 € afz 34 @4
TR % foadl w1 U SO & a o
o we o 1 9w

(@) * 75 (b) * 175

(c) * 300 (d) * 126
YEAR : 2005

Ha:b:c=2:3:4and 2a -

3b+4c= 33, then the value of cis
It a:b:c=2:3:4 2w 2a-3b

+4c =33 ¢ dl c® HA F@ I
66
@6 (b)9 () 12 (d) =
ma+ nc
fa:b=c:d, then — 1s
mb + nd
equal to
. matnc
'ﬂ'ﬁ.a:b—c:dﬁm
T B
a .
(@) = (b) =
a+c 4 c-a
© Hra @ 54

Ifa:b:c=7:3:5, then (atb+c)
: (2atb—c) 1s equal to
gt a:b:c=7:3:5% d@ (a+b

+¢) : (2a+ b - c) fHEh T B
(a) 1: 2 (b)2:3
(€) 3:4 (d)5: 4

If two times of A 1s equal to.
three times of B and also e

to four times of C, then A : B_;, j

afs A1 <, B # ﬁlﬂ]}f aféw
THH e d A:B, .& H 3
6 -~

(@2:3:4 ]3‘ 4 2
(€)4:6: \{ﬁ},ﬁ 4:3

The mill atidsrater in a mix-
ture are in-the ratio 7 : 5. When
15 litres of water are added to
it, the ratio of milk and water
in the new mixture becomes 7
: 8. The total quantity of water
in the new mixture is

gy 9 UMt w1 aEuE 7 - 5 #1 afg 15
et urt @i e s | e 7
8 7 5l 21t 7 fugor § g i wa
A Fd F

(a) 35 litres (b) 40 litres

76.

T

78.

[c) 60 litres  (d) 96 litres

A box contains l-rupee, 50-
paise and 25-paise coins in the
ratio 8 : 5: 3. If the total amount

aff AslR B3 : 4 s/ § & 3Rk B3
Cl12:13F A § A AR C

I T Hh
(@) 3:13 (b)9: 13
(c) 36: 13 (d) 13:9

of money in the box is * 112.50,
_pai i 2

flsle Himber GFIG0.-paise Eolile. oy 3 of A=75% of B= 0.6 of C,
T T A L, 50 9 3 2549 3 thaniat o By Cig
e 8 : 52 3 % argam A &1 7 F aRk 2A=75%B=0.6CT A: B
Tfe  112.50 & @ 50 T & fawhi _CSﬁ
il TS ol . Qs{l—dS |3 by3:4:5
(a) 80 (b) 50 (c) 30 (d) 42 R . [,] C
In an innings of a cricket match, ()4 =310 ﬁ 918210
three p]ayer‘g A, B and C scored a 85. The salanes f%”* B and C are
total of 361 runs. If the ratio of the in the r{cié‘“ ,,»l\wé 4. If the sala-
numl:;er of ré,ms Zcoaried by A t{: thajti nes“ are. i@§reased by 5%, 10%
f‘li?lrs;esoob}frcd b;\ gto thS:t ;;r;deb;cwc and "15%} respectively. then the
Ty I N &:}“‘i-t}% ed salaries will be in the

LiEE mam! L
by A was {>ratio

" & - g ;;A. w

af% frebe i F1 T W i Farenfeai /0 A, B3t CHt @A &1 9@ 1: 3 :

T FA 361 T T M) fg
B B ek C% T =
I 3 : 2 ¥ @ A AR @H
G H
(@) 171 (b) 181 (c) )& jd Y61
Iﬂ ar exarnma‘tlon ‘ﬂie urnber
of those wh “gssed and the
number ofdﬁhos “Who failed were
in the r 1@% 4. If five more
had :d and the number of
é?P ‘was 2 less than eariler,
l;_hé \}‘@ém of passers to failures

~would have been 22 : 3. Total
C y;}tumber who appeared at the

A
>

Y,

80.

examination 1is

A T wen § U gL I B W S
F SUE 25: 4 ¥ AR 5 BA AR M
WM 9 B §O 9 2 FH & oM |9 0
T BE 3 wa g BEN F AN 22 ¢
3 B i €1 o The H A 3 7| 5

(a) 145 (b) 150

(c) 155 (d) 1180
YEAR : 2006

Ifa:b:c=3:4:7, then the

ratio ( a +b+c) : c is equal to

MG a:b:c=3:4:7F W (a+b

+c) : ¢ 9 Fi

ja) 2 :1 (b) 14 :3

) 7:2 (d)1:2

If Aand B are in the ratio 3 : 4,
and B and C in the ratio 12 :
13. Then A and C will be in the

ratio

AR D

-\N»‘

86.

87.

88.

Copyright © All Rights Reserved | https://spardha.guru/

4 %) 4% S F@ FAM: 5%, 10%
3 15% =Rt W & 56t g A
ST T

(@) 20 : 66 : 95 (b) 21 : 66 : 95
(€)21:66:92 (d) 19 : 66 : 92
The total marks obtained by Arun
in english and Mathematics are

170. If the difference between his

marks in these two subjects is
10. Then the ratio of his marks

in these subjects is

afy s 3 gfiew 3 nfm § w5
170 =1 wra feu) afs 39 o7 &1
s Al fawal W 10 @ af e

FIE A F

(@ 7:8 (b) 8:7

()9 : 8 (d)9:7
YEAR: 2007

There are three numbers A, B
, C such that twice A i1s equal
to thrice B and four times B is
equal to five times C, Then the
ratio between A and C is

afy df1 Heam A, B @ik C 39 9K
# fr A% 2 B faR & auen
% R B W m C#& U= &
o # @ A #R C H I T
@ 3:4 (b) 8:15

() 15:8 (d) 4:3

The ratio between two numbers
is 3 : 4. If each number is

|’ 731
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89.

91.

92.

94.

info@spardha.guru

increased by 6, the ratio
becomes 4 : 5. The difference
between the numbers is

Ift < Hed 3: 4 F orw d ¥ A
TAF e H 6 Wi W a gemn 4
: 5% oUW ¥ € SR & @ wemnsi =
e e

(@1 (b)3 ()6 (d)8

(SSC CPO S.I Exm 2009
Which number when added to
each of the numbers 6,7,15,17
will make the resulting num-
bers proportional ?

f&m —w=m F 6,7,15,17 7 TIF
AT 8 Sl

@6 (B)S ()4 (43

(55C DEOQ Exm 2009)

Incomes of A and B are in the
ratio 4 : 3 and their annual ex-
penses are in the ratio 3 : 2. If
each save * 60,000 at the end

of the year, the annual income
of A 1s

A B @ 4: 3% 0@ § € 3T
ST A T 32 F A q 2
Ifs g = * 60000 Fi F=d FT &
A= e s 9| F1

(a) * 1,20,000 (b)* 1,50,000
(c) * 2,40,000 (d)* 3,60,000
The weight of Mr. Gupta and

Mrs. Gupta are in the ratio 7 : 8
and their total weight 1s 120

After taking a dieting @em‘sej

Mr. Gupta reduces by 6{ and
the ratio between tl}é{’r weights
changes to 5: 6, J.fl:s Gupta
has reduced b )

"~ N

i maﬁﬁﬁj% F 7 : 8 F
| o mﬁaﬁ?120ﬁ?
m%‘lm‘q’gmﬁmam 6 kg F1 T
o & T I F1 S 5 6 @ S
o IR T T T g1 IS T

(@) 2 kg (b) 4 kg
(c) 3 kg (d) 5 ke
YEAR: 2008

If a and b are rational numbers

732 |

985,

96.

97.

and a+b.J_= X , then a :
2-43

b 1s equal to

fg a #iv b % HwFUW B a

+b.f3 = a 2 Tl (a:b) FE FI
2 —4/3

a) 2 :1 (b)2:3

(€) f3 <1 (d) 5 =1

The ratio 4°° : 27 1s the same as

Mg 435 . 95 Tl 78 H{UW 9 A

® auE 87

(&) 4:1 (b)2:1

) 1:2 (d)1:4

fA:B=1:2,B:C=3:4,C:D
=6:9and D:E=12:16then A
:B:C:D:Eis equal to

g A:B=1:2,B:C=3:4,C:
D=6:9,D:E=12:16% A:
B:C:D:E ffus suat s ¢

(@)1:3:6:12: 16 /Q»
b)2:4:6:9:16

() 3:4:8:12: 165 - ;g
(d)3:6:8:12: 1 ,,wé;

The ratio of t sage “of a father
to that of n.éLs 5: 2. If the
product th‘g:rf‘ age 1n years 1s

1000 th@t;, the father’s age (in
ve ns] er 10 years will be :

ﬂﬁﬁﬁfﬁgﬁmﬁmmWS 2

gl S s %1 oEEe 1000 #, 4
N M0 T A i 3 oemg = e

98.

102

(a) 50 (b) 60 (c) 80 (d) 100
What number should be added
to each of 6,14,18 and 38, so
that the resulting numbers
make a proportion?

fFg ge=m =1 6, 14, 18 9w 38 w&F
|

@)1 (B2 ()3 (d)4

(SSC CHSL DEO & LDC Exm
2010)

.A mixture contains wine and

water in the ratio 3 : 2 and an-
other mixture contains them in
the ratio 4 : 5. How many litres
of the latter must be mixed with
3 litres of the former so that the
resulting mixture may contain

A
w

103.

o

104.

105.

106.
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equal quantities of wine and
water ?

e fagm & ywE 3 U F e 32
€ oR forelt g frsm A9 4 : 52 Al g
fragor =1t farat 7 weel fagm i 3 X
qE § fqend ST &t g s f e 9
TE 1 1w T § e )

2 2
(@) S— litres (b) S— litres
5 3

1 3
() 4— lLitres (d) 3— litres
2 4

The monthly salaries of A, B and
(,axemthe;%@&a 235 Cs
monthly ey 12 ,000 more
than that A hen B’s annual
salary 1s;u e

A, asﬂt T e o 2:3:5%

aﬁgmw | gfg C =i wifgs: &g A =
A ¥ 12000 & 5979 &, @ B

o N ——

(a) * 1,20,000 (b) * 1,44,000
(c) * 1,80,000 (d) * 2,40,000
The ratio of income and expen-
diture of a person 1s 11 : 10. If
he saves * 9,000 per annum.
his monthly income 1s

e AT i A #R w5 aE 11
: 10 8| At 98 9000 F & 54 F=a
FW & @ OWEF 9 T

(a) * 8,000 (b) * 8,800

(c) * 8,500 (d) * 8,250

The ratio of the numbers of
boys and girls in a school was 5
: 3. Some new boys and girls
were admitted to the school, in
the ratio 5 : 7. At this, the total
number of students in the
school became 1200, and the
ratio of boys to girls changed to
7 :5. The number of students
in the school before new admis-
sions was

TF The | e 3 aefwal F1 o9 5
3% HD T AH g ALtHFA 5: 7
HIE | FfEe g A ®a 9 1200
B W E A aeH F ehEA w1 e
7 .58 W 2 Al e # we Hqewn
yrEeTd | fral offi

(a) 700 (b) 720(c) 900 (d) 960
Three persons walk from place
A to place B. Their speeds are
in the ratio 4 : 3 : 5. The ratio

of the time taken by them to
reach B will be :
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107.

108.

109.

110.

118.

= =afeaai #t 91e1 4: 3: 5F I
H ¢ ST weg fFE I § wme

(@)10:15:13 (b)2:3:4
(c) 15:20: 12 (d) 16 : 18 : 15
YEAR : 2009

Marks of two candidates P and
Q are in the ratio 2 : 5 if the
marks of P are 120, marks of Q
are

P 3 Q % o1&l %1 auW 2 : 5281 4fg
P# & 120 2 df Q & 3% Fd 1|
(a) 120 (b] 240 (c) 300 (d)360
The ratio of the age of Ram and
Rahim 10 years ago was 1: 3.
The ratio of their age five vears
hence will be 2 : 3. Then the
ratio of their present age is

T SR WM FT g F1 A 10 "ot
Ted 1:3 e 3R S5 A% 2: 3 ®
S A AEHE A T A S
(a) 1:2 (b)3:5

(c)3:4 (d)2:5

If the sum of two quantities is
equal to three times of their dif-
ference, then the ratio of the
two quantities 1s

afs &1 HeAsd A I AW H
o @1 @ demeli w1 oraE T
(a) 1:3 k) 3:1

(c)2:1 (d)2:3

Three numbers are in the ratio
3 : 4 : 3. The sum of the largest
and the smallest equals to the
sum of the second number and

119.

120.

121.

r\g

The ratio of weekly income of
A and B 1s 9 : 7 and the ratio of
their expenditures 1s 4 : 3. If
each saves ' 200 per week,
then the sum of their weekly
income is

A 3t B #1 §raifess @@ 1 SH9E 9
. 7 AR wE W sUR 4 : 3 ®) A
TEF 200 F F9d Kl & A ST
A F I R g

(a) * 3,600 (b) * 3,200

(c) * 4,800 (d) * 5,600

The income of A and B are in
the ratio 2 : 3 and their expen-

ditures are in the ratio 1 : 2, If
each saves * 24,000, find A’s

income.

A =it B3t o 41 ogma 2: 3% 3R
TE H oaIE 1: 2 B Ak waEw
24000 # o9 =% € A A F o™
A H i
(a) * 24,000 (b) * 72,000 ;"’f«,
(c) * 19,200  (d) y

Lo
+ 48,0000 %)
Vo

From each of the two”given
unequal numbers.shalf © “the
smaller number 1§W§u’btr&cted
Then, of the resultﬁ_g Trambers
the larger one times of the
smaller one. the ratio of
the larg ,_the smaller one is
. : o
L genal § yoiw wem 9 B
D werm w d T

mgma@mmm

’pawa

gﬁﬂmﬁw%lfﬁaﬁwa@‘lﬁm

52. The smallest number is ,{‘

i e 3: 4 Saﬁwﬁﬁ%m&!{mﬁj
T 9 Hed I Hen W@'ﬂ

e 9 52 % A & Ery§ Al el
BE e I H -\ o
(a) 20 (b) 27 AC) agf(d] 52
},ﬁ) \.} £
"f.;\\; f\x'}
The ratio bf the income to the

expenditure of a family i1s 10 :
7. If the family’'s expenses are
* 10,500, then savings of the
family 1s

T UfER A AR wd @ e
10 : 7 € afg uf@r %1 @ "10500
2 @ ofer = T=w 9@ =

(a) * 4,500 (b) * 10,000
(c) * 4,000 (d) * 5,000
info@spardha.guru

122.

123.

an I S F
ja) 2 :1 (b)3:2
) 3:1 (d)1:4

YEAR : 2010
94 is divided into two parts in
such a way that the fifth part of
the first and the eighth part of

the second are n the ratio 3 : 4.
The first part is :

94 i & A9 A T uww fawfsa fwa
T &I UEet &1 Ul few 9 @ #w
e fewm 3: 4 % U 4 € 1 geen
e Fd

(a) 30 (b) 36 (c) 40 (d) 28

The third proportional of 0.8 and
0.2 1s:

0.8 3t 0.2 F1 FEEwiaE F6 Hi
(a) 0.05 (b) 0.8 (c) 0.4

(d) 0.032

124.

125.

» ]

“126.

128.

129.
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On mixing two classes A and B
of students having average
marks 25 and 40 respectively.
The over all average obtained is
30. Find the ratio of the students
in the class A and B.

< Fenal A @R B & i #i faomn @
5% ofwd i Fow: 25 SR 40 € @
e = 1 S 30 W g o e
AT Fa1 BS 90 H 239G 9 i
@2:1 H5:8(5:6 (d3:4
A fruit seller sold big, medium
and small sized apples for * 15,

* 10 and * 5 respectively. The
total numbﬁ apples sold
were in t Btm% 2 :5. Find

the ave e’"lzoégt of an apple.
T Wﬁm a's: ueg 9 T 9Es &
FaEwy 15, '10, 5 # feum ¥
| B e aa n‘qﬂa 3:2:5%
o9 U A U ga & sied
sﬂ'd F
(b)

(d) *

(@) *
Ina schoo] the ratio of boy*; to
girls 1s 4 : 3 and the ratio of girls,

*10(c) " 9

to teachers is 8 : 1. The ratio of
students to teachers is :

F T § e SR el F um:
4:3¢% IR wefEal 9 aams =)
aaE: 8 : 1 21 | BEl 9 e w5

ERRIIE IR
(a) 56 : 3 (b) 55:1
()49 :3 (d) 56: 1

The number to be added teo each of
the numbers 7, 16,43,79 to make
the numbers in proportion is

frg gEm B 7, 16, 43, 79 T wEE
H sirer s aifd 7 derme gAias
g =)

@2 B3 (g5 (d1

(SSC CGL Pre. Exm 2012)

The students in three classes
are in the ratio 4 : 6 : 9. If 12
students are increased in each
class the ratio changes to 7 : 9
: 12. Then the total number of
students 1n the three classes
before the increase is

@ st § B # A9 4:6:9 %
Ifz gaE w1 § 12 3@ AR o S q
ST 7 :9: 12 7 I ¥ e H
o Be fEa 4

(2) 95 (b) 76 (c) 100 (d) 114
(SSC CGL Tire-II Exam. 2012)

|" 733
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130.

131.

136.

135,

138.

If there i1s a reduction in the
number of workers in a factory
in the ratio 15 : 11 and an in-
crement in their wages in the
ratio 22 : 25, then the ratio by
which the total wage of the
workers should be decreased is
It UF FREA § Teigd F1 He § w3
15: 11 % o/u| & &1 3l 3 vl
22:25 % S =eE S @ ST H
T2 g ARl H I §E R

() 6:5 (b)5:6

(©3:7 (d)3:5

(SSC CHSL DEO & LDC Exam.
2012)

Two numbers are in the ratio
of 3 : 5. If 9 be subtracted from
each, then they are in the ratio
of 12 : 23. Find the numbers.
< HeAm 3¢ 5 Fqud | €1 9 gcde |
H O HEEl WY df 7 eEde 12 : 23
B S 21 A e J| F

(a) 15,28 (b) 36,115

(c) 33,55 (c) 60,69

(SSC MTS Exm 2017)

If the annual income of A, B and
Carein theratio 1 : 3 : 7 and
the total annual income of A

and C 1s * 8,00,000, then the
monthly salary of B (in ) is

afe A, B 3ix C %1 =iftfs sm 1: 3 :
7 @ aruE ° 21 A 3w C &t 5ot aftfs
& ‘800000 & 7@ B &1 Wifa® 214

Eicliead

(a) * 20,000  (b) * 25,000

(c) * 30,000 (d) * 15,000
Annual incomes of Arnit é
Veer are in the ratio 3 : W}}ﬂe
the ratio of their e tu?"e 1s

5:3.If at the e d:iiuthe year

each saves " 1 ﬂi‘ he annual

income ;fé{\mft“ﬁ\
wifia 3 2, WftfF o w1 eEE

3:2% > 39 Wl H A9 5
: 3% afg ad # o § udw *1000
1 o B © A G A e
EIGRET]

(a) * 9,000 (b)
(c) * 7,000 (d)
The ratio of the income of A and
Baswellasof BandCie 3: 2 If

* 8,000
* 6,000

734 |
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vy, 3
d. 1 -

139.

140.

141

142.

one third of A's income ex-
ceeds one fourth of C’s income
by * 1000, what is B’s income
i g

A dr Ba B &R C &l &g &1
FUE 3 : 2% Aff AH s W
o am C #t A # W 9 g
*1000 5911 & & B #1 1@ i i
(a) 3000 (b) 2500

(c) 3500 (d) 4000

The price of a refrigerator and
a television set are in the
ratio 5 : 3. If the refrigerator
5500 more than the

television set, then the price

costs °

of the refrigerator is:

fipst oft A =1 F197 H1 YA 5
3 %1 afg fibs =1 ®iHd d.dl. § 5500

than 8 times the square of the
other. If the numbers are in the
ratio of 3 : 4, then their values
are

3 Wt 55 yEn ¢ fF w224
w1 ¥ 3Ol wem & W % e T W
afe @I 3 : 4 % 9 | & al 39
WA T H

(@) 12, 16 (b) 6,8
() 9,12 (d) 12,9

143.If (a +b) : (b+c) : (c+a) = 6 :7 : 8
and (at+b+c) =14, then the value
ofcis
@+ b): (bt (c+a)=6:7
:8%%3?1'{[5;‘; =148 d cH: AH
EIGRER L’ ';,p.\'
(@) 6 Lbf ©8 ()14

144. The ratio of boys and girls in a

;-w(.‘{)].kq s 5 :3. If 50 boys leave

ﬂ%%ﬁﬁmﬁmwﬁﬁ ,f*?

27500
13750

(a)
(c) °
The ratio of succ‘ Q\ful: and
unsuccessful exﬁtrhﬂées in
an exannnagﬁ}; in a school is
6 : 1. Thé‘{oa}lo would have
been 9 { 1 6 more examinees

aﬂf%—é@'k successful. The total

p[‘l_“h:nbbr of examinees are

;@'ﬁ 4R e BE F S 6 - 1

- zV"‘%‘l11'5'313;tr|'c|9 1 B ST 3R 6 3%

B HEA & | Fel BE Td R
[a) 140 (b) 120 (c) 200 (d) 160

.A box filled with paper bundles

weights 36 kg. If the weight of
the box and paper bundles re-
spectively are in the ratio of 3
: 22 then the weight of the pa-
pers (in grams) is

T TR decll | 90 gH a9 36 {5,
M. # E afe 99 SR W ded =51
T 3 : 22 F YA | B 9 TR =
o A\ F

(a) 30680 grams

(b) 30710 grams

(c) 31500 grams

(d) 31680 grams

Two numbers are such that
the square of one 1s 224 less

825? \g.r ».»;
* 165 Qs

145.

co]lege and 50 girls join the

llege, the ratio becomes 9 :7.

The number of boys in the
college is

ae% IR wefFd W e 5: 3 1
af% 50 weh ot Big § 9 50 AR
el afgen o a Ago| 9 : 7 8 S
Bl A o # gen T F:h

(a) 300 (b) 450 (c) 500 (d) 600

A person distributes his pens
among four friends A, B, C ,D

_ 11 1.1
in the ratio —:

. . _3 4 5 6
is the minimum number of
pens that the person should
have ?

% Al 1 FB FweW AW el A, B,

. What

F FTE o
ﬁl?ﬁ;ﬂémmﬂmmﬁm
4 wem €1

(a) 57 (b) 65 (c) 75 (d) 45

146.1f x runs scored by A, y runs by

147
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Bandzmnsby C,thenx:y=y
:z=3: 2. If total number of runs
scored by A, B and C 1s 342, the
runs scored by each would be
respectively

A, x W 9@ € B, y ™ & & 3R C,
ZA M E SN x:y=y:2=3:2
% oA H & 9t e W 342 =AM
= F G v T e e @ A
(a) 144,96,64 (b) 162,108,72
(c) 180,120,80 (d) 189,126,84

.Find two mean proportionals
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between 2 and 54,

2 @it 54 % @9 % q WA T FE?
(&) 6 and 18 (b) 6 and 12

(c) 12 and 18 (d) 6 and 9

A man ordered 4 pairs of black
socks and some pairs of brown
socks. The price of a pair of black
socks is double that of a brown
pair. While preparing the bill the
clerk interchanged the number
of black and brown pairs by mis-

take which increased the bill by
50%. The ratio of the number of
black and brown pairs of socks
in the original order was :
% =Aff 7 =R 2 e SUE a0 759
S ot 0 F e T Fwe W oE
W@ & wAd, P W FH U F R
g i #1 fae aAR e gEEER 3
Tt ® we @ g O1 F e
e TR 95 # foa § foma wr
fad # WA 50% 9§ W gl
FEAG F Fl ST S I H e F;
I | F
(a) 2:1 (b)1:4
() 1:2 (d)4:1
149.The ratio of age of two boys 1s 5
: 6. After two years the ratio will
be 7 : 8 The ratio of their age
after 12 years will be
3 TSH HI AT F FGHH IG5 : 6
212 9t 915 98 9 7 : 8§ S #
d 12 |el 915 SF6W = B

148.

152.

153.

154

A e wens H uee, 59 AR
Tt dred w1 eTE A 8 0 9 3R 3
L4 ¥ vedl SR dEd F EEe 2400
#1 @ A Hemed &1 An T@ FH

(@) 145 (b) 185 (c) 295 (d) 155
(SSC MTS Exm 2013)

The ratio of number of balls in
bags x,y 1s 2 : 3. Five balls are
taken from bagy and are dropped
in bag x, number of balls are
equal in each bag now. Number
of balls in each bag now 1s

4 xHR y | A F1 oEuE 2 : 3¢ IR
g g 3y B e F A xod e
W 2 At S S e g A
e S 21 Al o welw e § e wy
T A HL

(a) 45 (b) 20 (c) 30 (d) 25
(SSC CGL Pre. Exm 2013)

If the square of the sum of tw

numbers is equal to 4

163.

164.

eof A

Sl ® I 2 : 38, d 39S famm
T fea &fF wra fwm)
(a) 30 (b) 60 (c) 72 (d) 90

A person bought some rice and
wheat for * 380. The ratio of
weight of rice and wheat 1s 4 :
3 and the price of equal amount
of rice and wheat is in the ra-
tio 5 : 6. The rice was bought of
worth

U% A 380 ¥ w® wWEd 9 TR
el &1 96 T A & Fod H1 S
4:3% 3N 3T FAG 1 AAIE 5: 6
&, @ = w A b
(@) * 38Q AN (b) 300

(c) * 2008 (d) *

Thie 1 1} of monthly incomes
d Bis 6 : 5 and their
iithly expenditures are in

\Jhe ratio of 4 : 3. If each of them

}

their product, then the rgm i
S

~

these numbers is:
i <1 gemsi ® q'{wgﬂ ERED
Wmmww% 4t e
F1 ST L EF*'L"

() 2 :1 (B] ;JS[C]I 1(d1:2
:Sagfcmgﬁ" S.1 & CISF ASI Exm
gmw

fee numbers are in the ra-

N V‘tLo 1:2: 3. By adding 5 to each

22 15
(&) 5 b) = ,{‘ j'{
n "
17 11 .,{d\ﬂr
(© T3 d 5/ \
\f
150. The present age gbtﬂ?o persons

are 36 and Vedrs respec-
tively. If after ‘\(Uy‘cats the ratio
of their be 3 : 4, then
the value f;f nis

< =AfREl #1 adaE A FEN: 36 3R
50 = &1 4% n 9ol §1% Y H I
3:4%:IE|1ET%'H‘=InEFF1THEH?I'BF:fI
(@4 (b)7 ()6 (d)3

Of three positive numbers, the
ratio of 1st and 2nd 1s 8 : 9, that
of 2nd and 3rd 1s 3 : 4. The prod-

uct of 1st and 3rd is 2400. The
sum of the three numbers 1s

151.
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155.

of them, the new numbers are
in the ratio 2 : 3 : 4. The num-
bers are:

9 e 1:2 3 agma § 31w e
F G § 5 el o #, 9 S
2:3: 49 9 T HeA § B
(a) 10,20,30  (b) 15,30,45

() 1,2,3 (d) 5,10,15

A got twice as many marks in

English as in Science. His to-
tal marks in English, Science
and Maths are 180. If the ratio
of his marks in English and
Maths 1s 2 : 3, what is his
marks in Science?

A fiere fawa o fagm & g o o
el &1 sHe sfiem, famm o o |
e &% 180 ¥ o e @ o &

165.

166.
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saves ' 400 per month, find the
sum of their monthly incomes.
A &1 B i A1 719 1 396 6: 5
%l it 37w == 4 3 F 9E § ¢
af% e safed 400 mifaw a=a s
2 W T A F Wi am@ W B 2
(a) 2300 (b) 2400

(c) 2200 (d) 2500

There are 480 coins of half ru-
pees, quarter rupees and 10 paise
coins and their values are pro-
portional to 5: 3 :1. The number
of coins in each case are
480 g st 50 49, 25 ¥ 3Rk 10
T S fagsl & &9 H B 39 WE 5
3:1% oy ® € A 5T YE B
fowl #t g=m 9 FX

(a) 100,200,180

(b] 50,30,400

(c) 150,180,150

(d] 300,90,90

A box contains 420 coins of 1
rupee, 50 paise and 20 paise
coms. The ratio of their values is
13 : 11 :7. The number of 50
paise coins is

420 feme s TF w9, 50 T 3 20
WH R TR A 13:11: 7%
A #1150 T & foren fawn €2
(@) 42 (b) 78 (c) 66 (d) 132

|" 735
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167.

168

169.

170.

171.

172.

A box contains * 56 in the form
of coins of one rupee, 50 paise
and 25 paise. The number of 50
paise coins is double the num-
ber of 25 paise coins and four
times the number of one rupee
coins. How many 50 paise coins
are there in the box?

TF I H 56 TH w4, 50 T 7 25
T & fogw & w9 F 31 50 W H
o, 25 90 & fal 9 g qon T
w0 % faasi & W) P ¥ @ 50 @
% b T @7

(a) 52 (b) 64 (c) 32 (d) 16

* 738 is divided among A, B, C

so that their shares are in the
ratio of 2 : 3 : 4. B’s share 1s
"738 W A BsERCH2:3:4%
o o fawfsa fe m=m B g wra
fewm @

(a) * 328 (b) * 246

() * 264 (d) * 164
*1740 1s divided among A, B, and
C such that 0.5 of A= 0.6 0ofB=
0.75 of C. Then C will get

1740 F1 A, B 3R # 38 wr fasfea
f&em T F 05 A=06 B=0.75
Cl @@ C & WH 31 Hi

(a)* 580 b)* 696

() 348 d) " 464

A certain amount of money is
divided among x, y and z. If x
receives 25% more than y and

v receives 25% less than z,
X :y:z1is equal to

'DF‘{,?ﬁx:y:zEFr kil

(@) 14 :12:13 ;J:'S“.‘“12: 16
(0 10:9: 124 (d)12: 10: 11
A sum of 3 53 }\sjcﬁvided among
A, Ban fi srich a way that A
gets * 7 more than what B gets
and B gets ' 8 more than what C
gets. The ratio of their share is
"53 # A, B3t CH g6 YR aia
T fF A, B9 7 @fas 9w+, B,
C# 8 stfs wra w1 @ 3T+ fewm
F1 A T F

(@ 16:9:18 (b)25:18:10
(c) 18:25:10 (d) 15:8: 30

A sum of ' 300 1s divided among
P,Q and R in such a way that Q

736 |
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T T x, y AR 2 e TRy’
v ¥ 25% 3 | yﬁ;{?ﬁ?ﬂmw
S

173.

174.

175.

gets * 30 more than P and R gets
* 60 more than Q. The ratio of
their shares is

*300 = Tf1 1 P, Q &k R & fasnfoa
e e wafs Q, P4 - 30 afers 9
R, Q¥ "~ 60 zfus wra & df =1

ST AW
(@) 5:3:2 (b)y2:3:5
() 3:2:5 (d)2:5:3

*900 1s divided among A, B , C;

1
the division is such that E of A's

1 1
money =§0f B’s money = ;of
C’s money. Find the amount(in
4y received by A, B, C.

*900 = A, B, CH =0 wor fawfaa

; A - |
fFm T ® A= —B=—C T A,
2 3 4

B 3t Cgm urd uf¥n | L
(a) 300,400,200

(b) 350,450,100

(c) 200,300,400

(d) 400,150,350 N
If * 126.50 is divided among ;"B

and C in the ratio (ﬁ“‘i 5 ;43 the
share of B exceeds t}i;ﬁ"by

£

126.50 #1 A, Baiit €4 2:5: 4

% o W 3 T @ B
fewmn, A H ‘,\" Jéqﬁ;lq; %?

() * 36.50) (b) " 35.50

(c) "§:‘3"1§§0 (d) * 33.50

X gr;ri‘f of * 76 is divided among

k. ‘i\:ﬁg and C in such a way that A
L {gets * 7 more than what B gets

176.

and B gets ' 6 more than what C
gets. The ratio of their share is
76 1 A, B3 CH 3@ wFr faufaa
fem mn fF A, BR 7 @1fiss 9 B, C
q 6 wfom 9w § Al s fewd
F IUE T FA

(@) 19:24 :33 (b) 32:25:19
[c) 32:24:20 (d) 19:25:33
* 3,000 is divided between A, B

1
and C so that A receives —as

much as B and C together

2

receive and B receives 5 as

much as A and C together
receive. Then the share of C is:
3000 # A, B3R C ¥ 39 w&r
fomfsa fFm T fF A, B3 CH

o }?i} :~~*§l79.The ratio of the length of a

177.

178.

1 R
%o fost = = 9 BHIA 3R C# =l

%ﬁm% o 2l 21 7@ C @ fewm
A F

(a) * 600 (b) * 525
(c) " 1,625 (d) * 1,050
YEAR: 2011

Which of the following repre-

sents a correct proportion?
ferfafad 3 9w w6 Sared A 9 82
(a) 12:9::16: 12

(b) 13: 11 :: 5,44

(b) 30 : 4518 524

) 3 : 5 %25

If %x{i}:léﬁﬁ are in continued pro-
portion; then the value of x 1s

:_ﬁﬁf&rxaﬂ: 50 TF HHE GHEIE

180

184.

185.
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U x WM s

(a) 30 (b)20 (c) 5 (d) 32

school ground to its width 1s 5 :
2. If the width is 40 m, then the
length 1s

ferdlt Te =1 orard o =ier #1 S
5:2 % aft #e@ # dieE 40 W =,
T S F T @

(a) 200 m (b) 100 m

(c) 50 m (d) 80 m

.The ratio of the ages of two

persons is 4 : 7 and the age of
one of them 1s greater than
that of the other by 30 years.
The sum of their ages (in years) is
Afz =t =afwe 1 g 40 7H B wE
=fgd # a9, I Afd ¥ 30 39
s 21 a STt S H AW w
(2) 110 (b} 100 (c) 70 (d) 40

A box contains 280 coins of one
rupee, 50-paise and 25- paise.
The value of each kind of the
coins are in the ratio of 8 : 4 :
3. Then the number of 50 -
paise coins 1s

s W H 280 faw v v, 50 99
9 25T F w9 # 21 3k 39w WA 8
:4:3% g § & & 50 T8 & fani
H HEA FH H

(a) 70 (b)60 (c)80 (d) 90

* 555 was to be divided among
A, B and C in the ratio of
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I %4
4 5 6
divided in the ratio 4: 5: 6. The

amount in excess received by
C was

. But by mistake it was

555 ® A, B 3R C ¥ Lol
4 5 6
i o fgenfsr wE on ofe et |
4:5:6 4 fawfad = fem w0 @ C
7 fat ofn wfas o =t )
(a) * 72 (b) * 75
(c) * 22 (d) * 52
186. A man divides his property so
that his son’s share to his wife’s
and wife’'s share to his
daughter’s are both as in the
ratio 3 : 1. If the daughter gets
* 10,000 less than son, the
value (in rupees) of the whole
property 18
UF =Afd A AU SEEE H T UHH
fawmfsa fan & 38= 19 3 SHat 9o
AR SR Te 9 SHED TR WS
SIS 1 9 3 1 21 afg 56! o
#3993 ° 10000 Fu fost & &
FHA TEE fRa ot
(a) * 16,250 (b) * 16,000
(c) * 18,250 (d) * 17,000
187. A policeman starts to chase a
thief. When the thief goes 10
steps the policeman moves 8
steps and 5 steps of the police-
man are equal to 7 steps of the
thief. The ratio of the speeds of
the policeman and the thief is;
TF W UE G E U ST %Iﬁgﬁ
=R 10 FeH o € al W{ﬁ)
<ol & SR W & 5
FeH & TR T ol SR ‘aﬁ‘f o arfrm
T F &)
@25:28 4 }325 26
(c) 28 : 2;?’ N ld] 56 : 25
Tom 1s cﬁasmg Jerry. In the
same interval of time Tom
jumps 8 times while Jerry
jumps 6 times. But the dis-
tance covered by Tom in 7
jumps is equal to the distance
covered by Jerry in 5 jumps .
The ratio of speeds of Tom and
Jerry is
2 S 1 T T @ €| S 2 8 HE
ST © A ST 6 s oRTl @1 wig 2w

188.
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foret gft 7 %% § 73 e € 39 @
T 5 R ¥ T F A N A STH =

| ° # A% sEH wEe: 12,000
#t *10,000 1 == ® @, df 3T

1 IFTE T H g o § e R 22
(a) 48 : 35 (b) 28 : 15 (a) * 42,000 (b) * 52,000
(c) 24 : 20 (d) 20: 21 (c) * 46,000  (d) * 44,000
189.1f A and B arein the ratio 4 :_5 195.In a school there were 1554
and the Id1fferenc]: Of_ thir students and the ratio of the
S;lluarefsAls‘; By What 1 ths number of the boys and girls
FalHL : . was 4 : 3. After few days, 30 girls
% A B 4: 5% Siaid § € iR 37 joined the school but few boys
il = 2w 81 B, @1 A H A T4 FHi) left; as a result the ratio of the
(a) 36 (b) 445 (¢) 15 (d) 12 boys and girls became 7 : 6. The
(SSC CGL Pre. Exm 2015) number of boys who left the
' . . chool is
191.If two numbers are in the ratio s wf"
2 : 3 and the ratio becomes 3 : @Wﬁ %ﬁmﬁ?ﬁl&?ﬂiglii
4 when 8 is added to both the r ﬁ,ﬁdﬁ I 4 - 3 o
numbers, then the sum of the £l ﬁ:“ 39 fFama
two m‘mebefs is: ‘ _ TERS O f‘ﬁn w5 weH A freE S
aﬁa’@@m&Sa"aﬁFﬁl‘ﬁ%‘aﬁzméﬁi ‘ﬁ% e o e W
MaﬁﬁSTshg{ma,mﬁmaSAa 7 : 6 @ T fEen Bt S
m%,ﬁlmmﬁmwmaﬁﬁ}} i % Fe fhad 27
(a) 90 (b) 50 ¢ b  (a) 76 (b) 84 (c) 86 (d) 74
(c) 60 (d) 40 5!::) V71961 (2 —y9) ¢ (3@ +xy +¥?) = 5:1 and
(SSC CGL Pre. Exm 2015) ) (®—3?) : (x—y) =7 : 1, then the
x 3 ‘v@é ratio 2x : 3y equals
192.1f ; e the rah};?zgzﬁo+3y] A (3 —y?) : (1 +xy +y?) = 5:1 AR
and (3y — 2x) is; % N (-3 :(x—y)=7:1, &t 2=
) 2x : 3y frad TR 7
Tﬁ—=—f%\ai}(2x+3y]di‘ﬂ(3y (@) 3:2 (b)2:3
—2x = c)4:3 d4:1
ﬁﬁ%m T F (c) (d)
!a]ﬁ 2 (b)3:2 oo B e TR
lzggf_'llg‘l?fémes of x and y are in the (A+B): (B +C) is equal to
* “ratio 4 : 3. Their expenditures
are in the ratio 12 : 7. Both save afz A:B= ii B-C=i-i @ (A
* 3200 at the end of the month, 2’3" " 573
then the income of x 18 ? +B) : (B + C) #1 &’
X @ Y #I 3 F1 9 4 : 3 ¥ qen () 5:8 (b) 15 : 16
% @E 1 W 12 : 7 81 EHE Ae () 9: 10 (d) 6: 15

F of7 ¥ 3200 % 799 FH F, @ X

F E | F
(a) * 4000 (b) * 8000
(c) * 6000 (d) * 2000

194.A and B have their monthly in-
comes in the ratio 8:5 while
their monthly expenditures are
in the ratio 5 : 3, If they have

12,000 and * 10,000

monthly respectively, then the

difference in their monthly in-
comes 1s

A =it B# Afs ma 8 : 5% aud
H & wafs T AEE =9 5: 3 FH

saved °
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198.In a library the ratio of story
books and other bocks 18 7 : 2
and there are 1512 story books.
Due to collection of some more
story books the ratio becomes
15 : 4. The number of story

books collected is

TF EEE § FelE w g 3
3T TEE F A 7 ;2 F #R 3
1512 e 1 g € %9 2 Fefi
i GEIHI {1 T S 9 99 U
15 : 4 & s &1 e+ oiR faa
el #1 G0E fE mn

(a) 108 (b}205 (c) 100 (d)97

|" 737
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199.In 2 kg mixture of copper and
aluminiam, 30% is copper. How
much aluminium powder
should be added to the mixture
so that the quantity of copper
becomes 20%?

did R uegfafem & 2 fwoan fagor
% 30% di=n &1 zH fagor § feamw

wefufm TEe SR faern s ey
forad dfa =1 |51 20% & W

(a) 900 gms (b) 800 gms

(c) 1000 gms (d) 1200 gms

A bag contains coins of ' 1, 50
paise and 25 paise in the ratio

2 : 3 : 5. If the total value of
these coins 1s * 228, then the
number of 50 paise coins in
that bag was

TF 9 H 1,50 W el 25 W &
faFh 2:3: 5% sIE # ¥ Afx e
foahl #1 %@ 9od 228 €, @ 39 A
¥ 50 99 % frad fow 97

(a) 144 (b) 124 (c) 112 (d) 96
_Divide 27 into two part so that
5 times the first and 11 times
the second together equals to
195. Then ratio of the first and
second parts is

27 Fi & 9 § 36 yEn faqfeg w1
foF gee 9m 1 5 T A g 9m
11 7 2Hf faeae 195 & avar @,
TEel IR TE 9 H W €

(@) 3 : 2 (b)17 : 10
(¢)2:7 (d)5:4

A mixture contains milk and
water in the ratio 5 : 1. On
adding 5 litres of water,

200.

201

202.

t \
ratio of milk and water becosﬁ%s\\

the’

-\J

5:2. The quantity of mi
mixture is:

Wﬁwnweﬁ‘nﬁ%a@ms:

1‘11

| %1 5 offex grt ﬁt‘c;ue.fr{tmﬁ
I 5 : 2 %Iﬁ%TWQ?J
Bl il %,\ >

(a) 16htr§‘§]‘ﬁﬁ'€]

(b) 25 litres(ciey
(c) 32.5 litres(efiey)
(d) 22.75 litres(=f=x)

The sides of a triangle are in
the ratio of 7:9:12. The differ-
ence between the lenght of
largest and smallest sides 1s 15
cm. The length of the largest
sides would be:

gmﬁgaaﬁﬂmﬁm:lzzéaﬁmﬁﬁ
7sa|'

203.

2 T 9 R ged o genel & at3c#5e 3a+3c—-5e
daE % 9 SR 15 cm #1 w99 W@ 8 Siatx P hi3d_f
FI o frat €
o :Fﬁ atc—e d a+3c-Se
(@) gg <l ‘d] ;i e €) ovast 9 Beaast
() S () R 211.1In a factory the salary of each
) worker is increased in the ra-
205.The current ages of Sonali and tio 22 : 25 but the number of
Monali are in the ratio 5 : 3.
Fi_ve years from now, their ages workers 1s decreased by 262%
will be in the ratio 10 : 7 Then, 3
Monali's current age is: The net effect on the salary is:
Mmﬁmﬂmzﬁm&i?' F Bl ¥ UeE FR F A 22
F 3FUE § 21 3@ 9 e o a] ST : S :
A 10 : 7 % oFu" ° =@ S | <95 % ﬁwﬁmmm
Tl F S S 87
: : FHT 1265 % =1 4t
|a) 3 years / =i(b) S5 years /@4 6’% Rl
(c) 9 years [ FH(d) 15 years/ @4 W ﬁﬁﬂ}ﬁrﬁ 1 B
206.Two numbers are in ratio 5 : 8, N
If their difference is 48, then i ]AQ% T S——
the smallest number is "
- )
3 Hemnel #1 a5 8 # ok s £/
48 7, aﬁwmmm|fx (b) 115 % decrease
(a) 64 (b) 80 (c) 96 (d) 128. “{"_i;,# o} 10%: dscreass
207.1f acb = 4:5, b:c = 5:6, and/C:d= o -
6:7, then a.c is: {l@w (d) 20% increase
afg a:b = 4:5, bie= 6,}@?’&):61—
6:7, 7 a:c @"TI? Q) 4 213. Arrange the numbers a = 10°
(@) 5:6 Z"J
©2:3 A (]45 i 2 2 -
~ \;J b 3" C 5 n descending
G _{:\;,,g 3a + 4c srder:
208.1f fg:e@ , then e ) i ,
équalf to: BSOS i
eM\qw a= 10’b 8’(’ Sﬂwaq‘r—oﬁl
-"sx ‘ £ 3
CG _:_:5,?':, 2 FAE STORIE %8 § Fafead i
3b + 4d
N (@a>b>c (b)a>c>b
qOET B2
. o c)b>c>a (dc>b>a
(@) (b) 214.A man spends his two months'
(c) 60 (d) 15 income in three months' time,
209.If x:y=3:5 and x—y=-2, then the if his monthly income is 6000,
value of x+y 1s: then his annual saving is:
Az x:y=3:5 M x—y=-2, A x +y T afeHt, 3T § WER #t A diA
H1 HF F Em? T # wEa § we s g A sEEt
@) 8 (b) 2 mfas @™ 6000 T o TR Jfdw
(c) 3 (d) 5 gad oo grft?
(a) 18000 (b) 24000
e
210. If b d =? , then each of them (c) 12000 (d) 36000
) 215.1f the income of A is 10% more
is equal to than that of B and the income
é of B is 20% less than that of C,
af 2_°C — v fras Tl then the incomes of A,B,C are
b ada f in the ratio.
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B#l a9 C¥ 20% %9 & df A, B &iit
C & 3™ =1 I F1 g’

(@) 11:10:8 (b)10:9:7
(c)22:18:25(d) 22:20: 25

If 4 years ago the ratio between
the ages of P and Q was 5 : 6
and the sum of their ages at
present 1s 52, what is the ratio
of their present ages?

At ¥R 99 98w P @R Q % &4 g,
1 SUA 5 : 6 91 AR adHH § S
1 &g A0 52 Al A AqEE
HTY 1 ST T B2

(a)5:6 (b)6:7

(c)7 :8 (d)4:5

The sum of 1/5th of the
number and 25% of another
number is equal to 40% of the
first number. What is the ratio
of the first number and the
second number ?

U @ & 1/5 % R gHd e &
25% =1 4 uEel wEm ® 40% ®
TET 2GSl WEAl H gEd wenm |

S F Bm?

(a)4:3 (b)S:2

(c)S:4 (d)6:5

In a cricket match there are

three types of tickets say A, B and
C each costing Rs. 1000, Rs. 500
and Rs. 200 respectively. The
ratio of three ticket sold of.
category A, Band Ci1s 3: 2

the total collection from sgﬁéj
the tickets is Rs. 2.5 croges. Find
the total number of tlﬁe’is sold?

fehe M § A, B :.\gmaﬁ
femel 1 Fwa FHH: Re. 1000, Rs.
500 3% Rs. 20081, B &R C soft
o fas fefe g8 um 3:2: 531
afs femel ot faskl & =t aget 2.5
Fg 21w a9 W fewed W wen
M L2

(a) 5000 (b) 4800

(c) 50000 (d) 52000

If selling price of 80% books is
equal to cost price of 40% books,
then find ratio between cost
price and selling price.

A 80% forami &1 fowra wea, 40%

wems w1 g e gm?

ToheliEl & %4 5o & aad 81, 3 5l (a] 125 (b) 120
e fosa Wed % o e HT9E B (c) 95 (@) 85
(@)4: 1 b)1:4
(€)1:2 d2:1 230. Visitors to a show were charged
222.Ratio of A's age to B's age 1s 4 : 15 each on the ﬁrs‘t day, * 7.50
3. ‘A" will be 26 years old after on the second day, * 2.50 on the
6 yeava: Theuue of B ooy e third day and total attendance
' on three days were in the ratio
Aa'ﬁ: Y N BFH Y H A 4 2:5:13 respectively. The
: 3% 699 Uy A 26 99 F & average charge per person for
M BT adqH g w7 ¥ the entire three days 1s
(a) 11 years (b)21 years w0 ?‘ﬁ SEI 113?‘1 fe wfd =afax
(c)21 years (d)15 years 15, ga f&7 ' 7.50, W
223. Two numbers are in the ratio &7 *2.50 T S i fett
3:5. If 6 is added to both of ﬁaﬁaqﬁaﬁm 2:5:13 7% &I
them, the ratio becomes 2:3. H il 1{ %Igﬁq’[ % fou vfg =afEm
'Iiht‘j nulnbm‘; are . ST a}g\% oo w99 917
2 et 3 : 5% oud § 8 afz 39 S OO
Al 4 6 g faon e, @t s 2:3 ';\[B‘J-‘,.\"‘S b 5,50
& 9 31 3 et w82 g w[s»i (d)°
(a) 21 and 35 (b) 30 and 50%@31 730 were divided among A, B,
9 Cin such a way that if A gets :
(c) 24 and 40 (d) 18 an€ 3@ 3 then B gets * 4 and if B gets *
224. A mixture contains spipi Q\m@d 3.50 then C gets ' 3. The share
water ln the rath 91 3 : Q\M‘Ft ].t Of B exceeds t]:]_at Of C by
contains 3 htres ,l*ef’:gplnt ;
730 1 UMW A, B, C & 9 39
than water, qua‘t;rhty of el X
spirit in the tufe is W_ﬁ 'I“’Eiﬁ@%fiﬂﬁ A I
@Wwﬁ ‘@-{qpﬁs o2 FH 3%?&33%‘4%%1%8@
ST H B i U qE 6 3 *3.50 faet @ C & * 3 fae B &
afer sifir: fee =1, 1 faam fave = fomm C @ fopam aifr 32
qﬁ‘i"ﬁﬁm ' 30 (b) * 40
;fa} \lg litres (b) 10 litres (=) ) ]‘
o WQ litres (d) 8 litres ()" 70 @ 21
C ,{’;g 232.The compound ratio of the
,226 A profit of D60 ia divided inverse ratios of the ratios x :
between A and B in the ratio Y Y3 B0 2 S X160 .
1/3 : 1/5. The difference of x:yz,y:zx,zrxyaﬂmﬁ’fﬁ?w
their profit is: Ul 1 Ay U TqEa?
'960 ® TH W ATHI BH 1/3 : (@) 1:xyz (b) xyz : 1
1f§‘iﬁﬂ§¢ﬁﬂmw‘§lm (€)1:1 (d) x: yz
T 1 SN F B 233.Rs. 2420 were divided among A,
(a)'120 (b)* 160 B,C,sothatA:B =5:4and B
v YR AT D :C=9:10 then C gets
() (d) 2420 = 7 fn A, B, C § 38 w&R
) i el faaf@ #1 7 fF A:B =5:4 3B
- ree NmMaImMpers arc in c rafuo i . ﬁ o)
5 :7 :12. If the sum of the first :€=9: 10 T Fawe C 3 F1 ;
and the third is greater than (a) 680 (b) 800
the second by 50. The sum of (c) 900 d) 950
the three numbers is .
235.Among 132 examinees of a

o e 5:7: 12. % A9A | 2
% 379 | el e Tl SEe
IR, gEdl Heen | 50 afirs g, dt dib
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certain school, the ratio of
successful to unsuccessful
students 1s 9 : 2, Had 4 more

| 739
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236.

238.

239.

students passed, then the ratio
of successful to unsuccessful
students will be

ot whe & 132 qhenfesi & & whe
BT HT TR FE H ST 9 : 2 T
aft 4 =i BE S B WW a awe
BET FH IR BHET Y F I w2

(a) 14:3 b) 14:5
(c) 28: 3 (d) 28:5
In a regiment the ratio

between the number of officers
to solddiers was 3 : 31 before.
In a battle 6 officers and 22
soldiers were killed and the
13, the

in the

ratio became 1
number of officers
regiment before battle was
forddt Wamme & 95 9 Yol awEd F1
SaHl w1 #9d 3:31 AN S H 6
AFH AR 22 WEM AN MW R 9%
A7 1: 13 81 T g5 9 use faHve
T aREd F WEm oo 2

(a) 31 (b) 38

(c) 21 (d) 28

In a college union, there are
48 students. The ratio of the
number of boys to the number
of girls is 5 : 3. The number of
girls to be added in the union,

240

241.

so that the number of boys to

girls in 6 : 51is

quﬁmﬁmﬁh‘raﬁ
48%mﬁna?ﬁmﬁmm
T 5 - 3%|3R!I@fﬁ
TefFal w1 g A
wefeat =1

we 5w
©12 TS0 17

There arxe three bottles of
mixture of syrup and water of
ratio 2 : 3, 3: 4,7 :5. 10 Litres
of first and 21 Litres of second
bottles are taken. How much
quantity from third bottles 1s to
be taken so that final mixture
from three bottles will be of
ratios 1 : 1.

2:3,3:4,3R 7:5% 3qua |

740 |
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242.

farg =i ur & fago # d4 ade §
@ 791 21 Teel! siae § 9 10 e 3N
Tt d W @ 21 e fasm e
Wl 21 | el daa § ¥ fEw wen
i fagor w1 foan wd fsed fv dAl
el © foran T Aoy fago 1: 1%

ST | B2
(a)25 Litres (b) 20 Litres
(c) 35 Litres (d)30 Litres

.In a colored picture of blue and

Yellow color, blue and Yellow
color 1s used in the ratio of 4 : 3
respectively. If in upper half, half
blue : Yellow is 2 : 3, then in the
lower half blue : Yellow is

ferelt et IR et <1 F o3 A el @i
et T 1 FEE 4 3 & S H HEe:
foman s 21 af% So feed | et o
9 T F oo 2 3 F & @ et
feeg =1 e : dien fFw arqum o gm?

243.

(@)1:1 (b)2:1 o
(c)26 : 9 (d)9: 26 v )
A and B start an enterprise”

together, with A as ar\%
partner A invests 34000, and
' 2000 more after asmpnfﬁs B
1nvests 5000 an(fmtﬁdraws
* 2000 afterzg ionths. Being
the acth;s_pa)st er, A takes '
100 per Q_;Ef.
wproﬁt What i1s the
37%8 if the profit for the
yﬁaxué 67007
At B 3R e T SR R
C e A wfFa smier @ w9 H
w81 A 7EE 4000 w1 FREY w2
3R 8 W WK Rt * 2000 fEm wo
# Bz 5000 FEwr w3 ) o 9
TR a" T ¥ 2000 FE o E
HfFa arfer eH % A0 AW § § 9
# yfeere “100 e &1 4 o & * 6700
F AW g T A B @ S g
(a)* 3350 (b) * 3250
[c)" 2700 (d)* 2800
A sum of ' 15525 1s divided
among Sunil, Anil and Jamil
such that if * 22, * 35 and ' 48
be diminished from their shares
respectively, their remaining
sums shall be in the ratio 7 : 10
: 13. What would have been the
ratio of their sums if ‘16, ‘77,
37 respectively were added to
their original shares?

‘15525 = ufn gite, s sk

as allowance,

244.

245.
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e % o9 39 we ¥ fawfas =t 5
g fm afy 37 feedi § @ wwen 25,
‘35 3w *48 w0 w fEA W A A
ymoufr 7:10: 13 & 379 ¥ =
ST A 3 T e d w16,
“77, #% 37 Sis 3 9@ ® ey
i =1 AU 0 el

(@9 :13:17

(b) 18 : 26 : 25

(c)36:52:35

(d) None of these/sTH § FF &
A's income is ‘140 more than
B's income and C's income is
' 80 more thap/D's. If the ratio

of A's and, @fs income is 2 : 3
and th l‘éém’bw*’of B's and D's
income {#sr<1 : 2, then the
intzmn;:éé\ of A, B,C and D are
res;)ec\tlvely

Kxaﬁr’mBa"rwn 140 afus

\ﬁfﬁﬂcaﬁ!mDmﬁgﬁmn ' 80

afuw 81 afe A @i C =t @@ W
U 2 : 3 ¥ 9o B 3R D 1 3@ #

FaEl: 22 @ A B, C @R D #t
Y HA: BRI
(a] 260, 120, * 320 and ' 240
(b) 300, ‘160, * 600 and ' 520
(c)'400, 260, * 600and " 520
(d)'320, ‘180, ' 480 and " 360
Find the fraction which bears
th t t ith t E
e same ratio to 57 that =
5
does to 9
< 1
7% fa= v =X o ﬁﬁaﬁ EIRRIn]

. .3 5
VS —m— g 27
& 7%‘19‘5%

5 1
(al g (b) 35
45 £
(c) = @ 75

The ratio of number of boys to
the number of girls in a school
of432 pupils is 5: 4. When some
new boys and girls
admitted, the number of boys
increase by 12 and the ratio of
the boys to girls changes to 7 :
6. The number of new girls
admitted is

432 faaifeal a3 UF T 9 gl

are
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iR eTEfRl #1 He 1 A 5 4
8 S e A wY T Agh-agmA
Tifee & o) € 9 o= F1 aEm 12
3 9% S & qon wSH w asfEA o
A G F 7 : 6 B S 1 FaAEy
forait € wiefwal 3 =ifeen faan €7
(a)12 (b) 14

(c)24 (d) 20

(SSC CGL Tire -II Exam. 2016)
If the three numbers in the
ratio 3 : 2 : 5 be such that the

sum of the squares is equal to

1862 then which number 1s
the middle one.

A% 3:2:5% UM H dF e
et & fr oI = W A 1862 7,
e el dem qdEn?

(a)16 (b) 14

()13 (d) 15

Two bottles contain acid and
water in the ratio 2 - 3 and 1 :
2 respectively. These are
mixed in the ratio 1 : 3. What

is the ratio of acid and water
in the new mixture?

T Aol HwE: 2: 3% 1:2®
U ol IR W €18 1:3 %
suE § fyen faom S 21 @@y AY
fison o st 3 e 1 A S 22
(a)7 : 13 (b) 11 : 57

()23 : 37 (d1:3

The ratio of the number of boys
and girls in a school 1s 3 : 2. If
20% of the boys and 25% of the
girls are scholarship holde

the percentage of the sc

students who are
scholarship holders is«»{Z )

wen 6 3 : 2 F et 7R 20%
e AN 25% i % sEEfT
firadt 21 @ ﬁm\ﬁ:\mﬁﬂﬁwaﬂ
uﬁmaw&z@iﬁ%ﬁaqﬁrqﬁﬁaﬂ%?
(b) 78
(d) 80

Sy
N

(a)56
(c) 70

What number should be added
to each of the numbers 55,
100, 65 and 116, so the
resulting numbers are in
continued proportion?

55, 100, 65 Jar 116 wemst § &

=5

251

252

2353.

»

ol

W gem | i o e set o R
TR HEe AR 9| W Oel 2

(@) 20 (b) 10 () 5 (d) 15

Rs. 3200 is divided among A, B
and C in the ratio of 3 : 5 : 8
respectively. What 1s the
difference (in Rs) between the

share of B and C?

3200 & &t A, Bdwn C & =9 %l
9| 3:5:8 W dfer W 21 B 2R
C = fod # fiam siw (& ) & ?
(a) 400 (b) 600 (c) 800 (d)900

.The ratio of speed of three

racers 15 3 : 4 : 6. What 1s the

256.
ratio of time taken by the three
racers to cover the same
distance?

T g =t 1fd #1 AqIa 3:4: 6

#1 M < a1 @ W $99 g o
9T H1 AAUE N Em?

[a)3:4:6 (b)6:4:3 fﬁ
c)4:3:2 (d)2:3

A,B and C received an
of Rs 8400 and dlStrlMd
among them%elve?a.ﬁh&}‘atio
of 6:8:7 respe Walyﬁf they
of 3 :2: 4
ﬁgd B saves
ett.what is the ratio
w)’l‘dlt‘ures of A,B and
tively?

save in the r
respectivel
Rs.400,
of the e
C gg:é’fig}

A:B il C %1 8400 & W &1 & @

~FETY AT W B 6:8: 7 F

Cpum o 4 o) §1 Afs T a=d w1

ST FE9; 302 : 4@ @A B, 400
% 996 €, @ #99; A Bam CF =1

1 IFIH P87
a) 6:8:7 b)8:6:7
(c)9:14:10 (d)12:7:9

.A Company, at the time of mnfla-

tion reduced the staff in the ra-
tio 5:3 and salary per employee
is increased in the ratio 7:8 By
doing so, the company saved Rs.
55000.What was the initial ex-
penditure (in Rs) of company?

TF FOA A IR (HEWE) & 9 H

A FHANE! F1 53 F 59 H &9
o @ 3irEa a9 wfd HuE B 78
% ofqara | Fer faan vEn FE 9
1 55000 & F F90 T2 FIA T URIHR
=g (8 H) fHan a2
(a)Rs.155000 (b) Rs.160000

255.

5y B0 »—3
i el
a;rft%lnt

257.

258.
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(c)Rs.175000 (d) Rs.215000
Rs. 60500 is divided among A,
B and C such that A receives
2/9 as B and C together and B
receives 3/7 of as much as A
and C together. What is the
share of C (in Rs) ?

60500 %. Fi A, Baen C ¥ Td &K
st s € fF A 1 WM Basn C &
e A FH 2/9 ¥, 991 B 1 90 A
e C# el W &1 3/ 781 C & 9
(&. ®) foba € 7

(a) Rs. 29850 (b) Rs. 30120

(c) Rs. 31350 JRS 37250

Three boxes jt:a_pamty 24 kg.
36 kg and‘ﬁ‘i kg“are completely
filled wi: w}:ue three varieties

of whemw and C respectively.

i,

tied and the three type of

wheat were thoroughly mixed

d the mixture was put back
in the three boxes. How many
kg of type A wheat would be in
the third box (in kg) ?
o fes el gw9ar 24 ., 36 .
oA 84 fem & 9 a® F e
Fu9: A, B, a1 C® g W T R
i fesd mrefl #2 fou S & 991 &
TFN & 8 # o= o A ® 9
fagor =t fe & A fg=ai o s wman
#1 9 fesd ® A9l T8 i oAE (T
m ) e wni?
(&) 10 kg (b) 12 kg
(c) 14 kg (d) 16 kg
The ratio of number of cans of
orange, pineapple and mixed
fruit juices kept in a store is
8:9:15. If the store sells 25%,
33.33% and 20% of orange,
plneapple and mixed fruit
juices cans respecitvely, then
what is the ratio of number of
cans of these juices in the re-
maining stock?
fordlt uer =X F W@ AR EEE qen
fafya well ® W fe=ii =1 demei +
A 8:9:15 71 Afe A s qen
fafua wat & ™ F FAM: 25%,
33.33% @n 20%, fesdi =1 fast =1
S 2, @ 99 g wveRr § W @ feadl
F TN F FE T E?
(a) 1:1:2 (b) 6:6:13
() 12:15:19  (d) 4:9:13
Price of a diamond 1s directly pro-
portional to square of its weight.

|" 741
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A man broke the Diamond ac-
cidently 1s three pieces in the
ratio of 3:5:7 and the loses Rs.
42600. What was the original
price (in Rs.) of the diamond?
T € H YT IEE AR F A F
STTHAI €1 T oI | et 3 7w
B0 1 gt § 3:5:7 & oo A 2
T 3 3G e ¥ W 426005 HI B
%21 €1 1 ardfa® e (8 °) 9 o7
(@) Rs. 11786 (b) Rs. 60000
(c) Rs. 67500 (d) Rs. 75000
The flight fare between two cit-
ies increased in the ratio
11:13. What is the increase (in
Rs) in the fare, If the original
tare was RS 12100?
ﬁlvmﬁa%ﬁﬂmmﬁa-%m 11: 13
% oo H @@ fe w2 oAl gm
farman 12100 % o, < forae o €2 agrad
(= . ) farht 27

(a)Rs. 14300 (b) Rs. 2200

(c) Rs. 22000 (d) Rs. 1430
Profit of Rs 1,03,500 has to be
divided among three partners
A, B and C in the ratio 11:7:5.
How much amount (in Rs) does
B get?

1,03,500 ¥ %I W19 11:7:5 % 99 4
= wrier A, B 3R C & 9 fasfsa
ﬁmsrm%wsaﬁﬁflaﬁmﬁhﬁmvﬁ)
et 2rit?

(a)Rs. 22,500 (b) Rs. 49,500
(c) Rs. 50,500 (d) Rs. 31,500
A's wealth 1s 5/7 times of B's
and C's 1s 10/7 times of B's
What is the ratio of C's wealth

to A's?
AaﬁvﬂBﬁsx?Tﬁ?sﬁ'(C%fﬁB‘
Fl(}f?‘:ﬁT%lCﬁm‘ﬁfoﬁj
Hofa ¥ eqma w82 S

mf’

(a)49:100
d)«mo 49

(c)2:1
A bag has"Rs 4‘*3,311 the form of 5
Daise

rupee, and 10 paise
coins in th‘é ratio of 1:5:11. What
1s the total number of 50 paise
coins?

TF 9§ 5%, 50 TH @R 1) U6 F o
% ®AH [:5:01 % IE F 43 ® 21 50
9 % fag 1 Ha 9@ ¥ 82
(@5 (b) 25 (c) 55 (d) 50

. The ratio of present ages of R and

Sis 11:17, before 11 years the
ratio of their ages was 11:20 . What
is R's present age (in years) ?

264

265

266.

R 3 S % odWH 30 H UM 11
#1119 wee 31 SH H A 11: 20
a1 R %1 = 59 (3 #)Fm 82
(@) 51 (b) 33 (c) 22 (d) 40

.In an MBA selection process,

the ratio of selected to
unselected was 11:2. If 40 less
had applied and 20 less selected,
the of

unselected would have been

ratio selected to
10:1. How many candidates had
applied for the process?

rAET =P ufEen H, T T SR A
T @ w112 o A 40 W
A A emEeA faE g iR 20 W o9
TC B, A = A =EfE i w
A 10:1 B 3 uiEm % fow e
SHifearl 4 sTas faar o

(a) 220 (b) 260 (c) 300 (d) 340

.The flight fare between two cit—

ies 1s increased in the ratl

269.

270

CH A BHE 76 TE @ C oA
FA D Y T EIWE €7

(a) 8:21 (b) 21:8

(c) 27:14 (d) 14:27

The ratio of the speed of A, B
and C is 2 : 3 : 6 respectively.
What is the ratio of the time
taken by A, B and C respec-
tively to cover the same dis-
tance?

ABAM C 3 T & 3T 2 1 3 16 2
E gt 7@ FE F T e A, Bagn
Czm @ ™ THA A S F grm?

(@)2:3:6 B)6:3:2
[c]3:2:£}_‘i A1:2::3
I x-y: }‘fr %2 k=2:3:5, then

what rs* {M Value ofz: (x+k)?
?Tﬁ).—\y"‘éy z2:z-k=2:3:5%,

*Esz»,,x[x+k]ﬁ'qﬂ 1 B2

@12

b)2:1

(c)1:3 (d)1:4

0:11. What is the increac Fx‘i‘d‘9
Rs) in the fare, if the 272.Raman, Rohit and Raja are

fare was Rs. 18,0002

T Y F 9 SEH m" mﬁn 9"’ 1 &
S H g T B ﬁ@é ﬂéﬂfﬁﬁ('ﬁ #)
1 E, A G W,;Rc; 18,000 &7
(a) 22009,%\:3 (b) 3600

(c) ;g{g,qqg\w) (d) 20000

A bag has Rs. 51.25 in the form
ffﬁé_"’ pee, 50-paise and 25 paise

f_{"\_'g‘oérfs in the ratio of 3:5:7. What
L (s the total number of 50-paise

267

268.

coins?

TF A H 2 ', S0 99 afv 05 T #
fgasl & ®9 # 3:5:7 % U H
51.25 w74 81 50-94 % foai 1 %
e 4 82

(@) 15 (b) 35 (c)25 (d)5

.The ratio of present ages of R

and S i1s 6:7. Before 12 years
the ratio of their ages was 9:11.
What 1s R’s present age (in
years)?

R ¥R S % =0 @AY F1 396 6:7 €
12 o Tecl ST 9T R ATIE 9:1
a1 R & 5499 o (a9 #) #: 82
(a) 56 (b) 48 (c) 36 (d)44

If A’s wealth 1s 4/9 times of B’s
and C’s is 7/6 timnes of B’s, what
is the ratio of C’s wealth to A’s?

ARAF 49 B F 99 ¥ 4/9 T 3R

273

274.
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partners and invest in a busi-
ness. Raman invests 1/4th of

total and Rohit invest 1/3th of
the total. What is the ratio of
profit of Raman, Rohit and Raja
respectively?

TH, Afed A9 TST HWERR § a1 TS
R F Fae w € T Ee e #
1/4 s Fen fed wa Faw #1 1/3 9m
9 a1 €1 w9 o, Ofe 9o s
F A9 H HIE F L2
(a)4:3:1 b)3:4:4
(c)3:4:5 (d)4:3:5
Ifa-b:b-c:c—-d=1:2:3, then
what is the value of (a +d) : c?
qt a-b:b-c:c-d=1:2:3%,

dl (@ + d) : c &1 HE F1 87
(8)1:2 b)2:1
()4 : 1 (d)3:1

The ratio of two numbers i1s 3 :
5. If both numbers are in-
creased by 8, the ratio becomes
13 : 19. What is the sum of the
two numbers?

< geAsi #1 S 3 ;5 @1 Ak <Hi
Hens § § ®t gy F = m, |9 agaa
13 : 19 8 Sl €1 94 gemE @ A
F E?

(a) 32 (b) 48
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(c) 40 (d) 72

276. The ratio of the speed of P, Q
and R is 10:12 :15 respectively.
What is the ratio of the time
taken by P,Q and R respectively
to cover the same distance?
P, Q @en R =1 fa =1 /U@ #H90:
10:12: 15 % @9F 3t @@ &A@ &
ferd wwe1: P, Qe R3w o & w99
T AT w8

(a) 10:12:15 (b) 15:12:10
(c)6:5:4 (d) 4:5:6

The ratio of the speed of Aman,
kamal and Manan 1s 4:5:6 re-
spectively. What 1s the ratio of
the time taken by Aman, Kamal
and Manan respectively to
cover the same distance?
AT A, FHS U1 {7 T ST
4:5:6 ¥ HAA [ T FE & fAw wEw
A, FHA qA F 5 foE T wEA
T IEIE FA B 2

(a) 10:12:15 (b) 2:3:4
(c)4:5:6 (d) 15:12:10

A, B and C are partners and in-

vest in a business. A invests 1/
5% of total and B invests 1/4® of

the total. What 1s the ratio of profit
of A, B and C respectively?

A, B a9 C 9ERN & 991 U% =R § e
F &1 A FR 1 1/5 9 9 B Fe
39 =1 1/4 W FEw wE & wEm: A,
B4 C @ @ 1 3FI[ 341 27

(a) 5:4:9 (b) 5:4:1
(c)4:5:1 (d) 4:5:11

277.

278.

280. =—a Then

4

?ﬁgfgscm
7313\?

B 3{“@\‘5

—%aw— 5"
A:B:C:D w1 U I %?
(a)8:12:10:15 (b) 8:15:12:10
(c)8:10:12:15 (d) 8:12:15:10
A bag contains three types of
coins 1 rupee-coins, S0p-coins
and 25 p-coins total 175 coins.

If the total value of the coins of

each kind be the same, the to-
tal amount in the bag is:-

TF 9 H UF T, 50 Ty 25 W

afg Gl

281.
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282.

283.

foah €1 %o fagd 175 €1 afz 37 @t
THR % faaeni ®t uler s @ a9
A e o7 uf F7E F

(a) * 75 (b) * 175

(c) * 300 (d) * 126

If Girilal's salary is 11/7 times
of Hariram's and Shekhar's is
3/4 times of Hariram's, what i1s

the ratio of Girilal's salary to
Shekhar's salary.

11/7 71 2 3R @R &1 90 efam &
¥ § 3/4 T 2 fiftene & 39 w0
YR F 9 ¥ 9| F gy

(a) 44:21 (b) 28:33
(c) 33:38 (d) 21:44
In an army selection process,
the ratio of selected to

unselected Candidates was 6:1.

If 30 less had applied and 10 less

selected, the ratio of selected to f

unselected would have been ? ¥

How many candidates h;ﬂ?}api “”;
288. x and y are two numbers such

plied for the process?

Lol il ﬂ?ﬁmﬂ Wafr{
seafa srefdal = 71 9
wﬁsomqmﬁ% e.?n 10

S 7:1 e azwfaiﬁ 3 wfgan
# fou "‘;ﬁ%‘m o7

(a) g’,ffﬁf;“ (b) 1820

g&mkﬁi (d) 2730

QFBﬂ «{»ﬂ“% army selection process,

L (ahe

285.

ratio of selected to
unselected candidates was 9:2.

If 80 less had applied and 20 less
selected, the ratio of selected to
unselected would have been 5:1.
How many candidates had ap-
plied for the process?

F st 9dl wfwaw o =afE sk
AT Al 1 A9 9:2 o1 A
80 #9 A = e g 3R 20 ww
Tafd g1, @ =at| SR et #w
SqaA: 5:1 g feaa s 3 ufwa
% fou amagT far en?

(a) 6160 (b) 1540

(c) 3080 (d) 9240

x and y are two numbers such
that their mean proportion is
16 and third proportion 1s 128.
What 1s the value x and y?

x 3y t§ % gead € fae W

286.

287

.A bag haa

A 16 3R qetg o9 128 1 x
o y w1 7A@ 27

(a)8 and 16  (b) 16 and 32
(c)8 and 32  (d) 16 and 16

The bus fare between two cities
is increased in the ratio 11:18
What would be the increase in
the fare, if the original fare is
Rs 550?
<1 vIed & 19 61 99 hT HIS 11:08 F
A § A T E A ge 9T 550
T ®, @ 9% F fEet gf g2
(a) Rs 350 (b) Rs 900
(c) Rs 180 tﬂ Rs 360
'8 in the form
,»\56 paLSe and 10
_____ Iﬁ the ratio of 6:3:2.
Whﬁt is }he number of 50 paise
..coins?)

O A 630 % A A 1 7, 50 9

oflru

€k 10 %2 w14 308 = h 50

290.

291.
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T % fow Y gem = 80
(a) 8 (b) 24 (c) 12 (d) 4

that their mean proportion is 8
and third proportion is 512.
What 1s the value of x and y?

x 3R y i & wed ¥ fome we
S 8 ¥ R gord ST 512 81 x
3 y ® T w87

(a) 2 and 16 (b) 2 and 32
(c) 4 and 32 (d)4 and 16

Profit of Rs. 277200 has to be
divided among three Abdullah,
Bhanudas and Chakor in the
ratio 3:6:2. How much share
(in RS) Chakor gets?

277200 % &% F1 3:62 F AT §
 qia A 2| TR F1 fhma T (%

) " gam?
(a] Rs. 50400 (b)Rs. 151200
(c) Rs. 75600 (d) Rs. 25200

A bag has Rs12.9 in the form of
1 rupee, 50 paise and 10 paise
coins in the ratio of 3:2:3. How
many 50 paise coins are there
in the bag?

TFATH 303 F STEH 1 F, 50 U9
0 T8 % ®1 % 129 T & 50 T8 &
i =1 den fat erit?

@9 (b) 6 ()12 (d) 3

|" 743
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If Gadadhar's salary is 3/2

times of Haamid's and
Sarvesh's 1s 4/3 times of
Haamid's what is the ratio of
Gadadhar's salary to Sarvesh's?
Afg TR F S99 wifag % ST 9 3/2
T ® O AN % S 9 4/3 7R A
TR F A % AT H SR 2?7
(&) 9:8M) 1:2(c) 2:1(d)8:9

The ratio of present ages of
Rangana and Sayed is T7:5. Af-
ter 11 years the ratio of their
ages will be 4:3. What 1s
Rangana's present age?

T # WOE F aduE A # S
7:5%1 11 =6t 512 ST1 A7 F A
4:3 gl T FEEE g R 82

(a) 55 years (b) 77 years
(c) 70 years (d) 96 years
In an army selection process,
the ratio of selected to

unselected candidates was 4:1
If 90 less had applied and 20 less
selected, the ratio of selected to
unselected would have been 5:1
How many candidates had ap-
plied for the process?

wF amit o ufEm ¥, =afE ein
safta safdEl o1 999a 4:1 o 3fg
90 %% 4 s@eA b gl @it 20 =1
A g6, 9 WA i s
oA 5:1 grm e ereafel = ufsen
+ foau s feam an?

(a) 1650
(c) 825 (d) 4950 », =
By incresing the/price of entry
ticket to a f: ', 1ﬁ:fh% ratio 3:5,
the number of vﬁtprs to the fair
has dec Sed in the ratio 7:2,
In what ratio has the total col—

lection increased or de-

Sy
N

creased?

TF A R T e s T H 35 %
T # 9w, B H S o it
T 7.2 % I H FE e T 2 w5
e ¥ fopg s ¥ ofs a1 w4 g 27
(a)Increased in the ratio 10:21

(b) Increased in the ratio 6:35

303.

3009.

310.

(b) 3300 ,{‘\

315.

(c) decreased in the ratio 21:10
|d) decreased in the ratio 35:6

316.The brother is elder to his sis-
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ter by 6 years. Seven years ago
the product of their ages was 72.
What 1s the age of the brother?

By ir.lcreasing thv.a I.n‘ice of erl1— wF T o 4w ¥ 6 T a= A WA
try ticket to a fair in the ratio T Wee ITHI I F EEA 72 4
5:7, the number of visitors to o FF IW T 27
the fair has decreased in the (a) 13 years (b) 12 years
ratio 11:9. In what ratio has the (c) 6 years (d) 19 years
total collection inceased or de-
creaj ped ~ 323.The sum of the ages of husband
T T e s gEm H 57 & and wife at present is 100. Ten
S H gfg T, el § M Al @nl B years ago the ratio of their ages
m]lgaﬁ'ﬁqﬁﬁma@%|aﬁ was 9:7. Whatistheageofthe
Heher ¥ R oram | ofs o & g 87 husband? %
(a) increased in the ratio 55:63 o ufd 4 A 100
(b) decreased in the ratio 63:55 # = R ‘ﬁﬁ '{g s SR
) ) ) '_ o1 afd ﬁ%g“@ﬂ 22
(c) increased 1.n the ratl.o 45:77 [a]QrS eﬁrs () 55 yests
(d) decreased in the ratio 77:45 o {‘i) mgcam ()40 5ears
The ratio of ages of father aﬂef325 SO . W
son is 7:2. Five years ago th il e 2 10w
product of their ages was# Sﬁ} »—3 thi(_erlil mearn Ip'tlll‘opo.r 1(;%&;3 an
What is the age of the f 3’ - ?m{o 0; e ’
ﬁmmgaaﬂangmﬁqmz 2 Bl o, I T TR
W A T I I WISO 12 & o it srgmm 768
[c) 35 yeaﬁg" ;(d] 40 years
If Gang&&‘hﬁ%g salary is 3/11 328.A bag has Rs. 20 in the form of
t1 ari's and Shambhu's 1-rupee, 50-paise and 10-paise
ﬁS: 314“1}‘7‘1@3 of Hari's. what is coins in the ratio of 2:3:5. Find
?- xofél];atwbc: Ge;ngadhars salary the number of 50-paise coins.
am 1ms
Ce O e
Jﬂﬁwmaﬁgﬁiémﬂ:}f]l w%ﬁQ'S‘SEWﬂlg‘_’
G N e e 50-% 3R 10 T & =1 F 20 F €
4 R, @ TR S T F A 50 = foast = o= T F
ST F Em? (@) 25 (b) 10 (c) 15 (d) 5
(a)44 : 9 (b)4: 11
(c)9 : 44 (d)11:4 330.A bag has Rs 11 in the form of
1-rupee, 50-paise and 10-paise
The ratio of present ages of coins in the ratio of 4:2:5. Find
Rangitha and Shaheen is the number of 50-paise coins.
6:5.After 12 years the ratio of TF ATH 425 F FAgIEF 1-F, 50—
their ages will be 7:6 What is St o5 F T A (1 ) 50 &
Rangitha's present age? ) i ! ’
foaeri #1 wemn ga w4
ifen o WA # adum sy W
AT 6:5 ¢ 12 a9 918 ITHT A (@) 10 (b} 8 (c) 4 (d) 2
SAE 7:6 B I T A oy
[Em il 334.If Giridhar's salary is 5/3 times
(a) 60 years (b) 55 years of Hariraj's and Shaunak's is
(c) 72 years (d)28 years 2/3 times of Hariraj's, what 1s

the ratio of Giridhar's salary to
Shaunak's?
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339.

afe fifer =1 3@ efost & 3@ 9 5/3
T ¥ @R WEE 1 da e & A
g 2/3 T, df fifer SR view @ 3
F1 I F B2

(a)9:10 (b) 10:9

(c)2:5 (d) 5:2

x and y are two numbers such
that their mean proportion is 9
and third proportion is 243.
What is the value of x and y?

x AR y UE < Head # foae e
AU 9 T AR gl e 243 1 x
AN y w1 °F F1 27

(a)3 and 9 (b) 3 and 27
(c)6 and 27 (d) 6 and 81

340. Cost of 4 pens, 6 note books and

341.

342.

info@spardha.guru

9 files 1s Rs 305. Cost of 3 pens,

4 notebooks and 2 files 1s Rs 145.

What is the cost (1 Rs) of 5 pens,

8 notebooks and 16 files?

4 FeM, 6 AlegF a9l 9 HEd FH oI

305 % 21 3 FoM, 4 AGF 9 2 WIEA

F1 e 145 1 5 Her, § FAeqE adl

16 WIEe 1 Hed (F W) 1 27

(a) 415 (b) 465

(c) 440

(d) Cannot be determined/3md
& faan s g

The entry ticket at a fun park
was increased in the ratio 7:9,
due to which footfalls fell in

the ratio 13:11. What is the_'__

new daily collection (in Rs)
the daily collection before

price hike was Rs. 2 %},509'3

fodt %= T ® wd ﬁ,m% 'cﬁ g o
7:9 % I ﬁ @ foma wrm
TEF Il HEA H 18 ISP A H
o o wfaf a‘ﬁ’“ Gren T HerRE
(= o (B A i W
el ;rmﬁquM 27,500 &1 1 Ferae
BT o7

(a) 237500 (b) 247500

(c) 232500 (d) 242500

If 50 less had applied and 25
less selected, the ratio of se-
lected to unselected would
have been 9 : 4. So how many
candidates had applied if the
ratio of selected to unselected

hc)

was 2 : 1.

afs 50 7 @i 3 @Eed R g
o 25FH P MM ER A MW T
F A M F A 9 ;4 wan A
FA M qA A TR M A HT S
2:1 9 af feat aint 3 aEea
a1 en?

the daughter in the ratio 2/3
: 5/4. How much share did the
son get (in Rs lakhs)?

AT & SFER 11,50,000 % i Fafq
w1 FeE YF R G W @ 03
5/4 & FUE W BN GF B fomaw
e ferm? (@ % o)

(a) 125 (b) 250 i 5 &) 6
(c) 375 d 500 o 4
c
343. Rs. 11,550 has to be divided .
aiioeip. X, Y 6.2 siieh thet X 348. Bunty had candies and chew-
gets 4/5 of what Y gets and Y ng gur.rls in his sweet box in
gets 2/3 of what Z gets. How the ratio 7 :.15,?3 After he has
much does Z get over X (in eaten 8 can égy:f;and 11 chew-
Rs.)? ing gumsst j;‘atio became 1 :
11,550 %7 %1 X, Y 3t Z & 56 0 2 How* a‘fl}l candies does he
o ; have -aow?
TREXFYF4/5MYH ZH
2/3 5m ol ZF X fom s ﬁéfﬁ}ﬁﬁlﬁm%ﬁﬂ%ﬂélﬁﬁ
ar (' H) fem? VUSRS 7 ;13 €1 SE 8
(a) 7200  (b) 1800 € v sk 11 g o @
(c) 1359  (d) 2450 }vﬂ"ff o1 IFA 1 2 2 B ST §) 3 9
344. Before a battle the rat Ei% ' aﬁ%‘ﬁ%ﬁiﬁﬁ BT ?
tanks to planes in an a wgs (a) 65 (b) 35
5 : 3. During the;e wars, QOO (c) 54 (d) 27
teinks e dei;m d eﬂ ,?\?10 349. The price of a movie ticket
P anesfwere estﬁ(}if b % was increased in the the ra-
rello; g ta?‘kﬁ&o ANk ap tio 9: 10. What is the increase
GRImE: 2 4; L theanm: in the revenue (in Rs.) of the
ber of m§}‘§fter the war. cinema hall, if the original
55 Lfe T o 3R wE fare was Rs 180 and 2200 tick-
Sﬂql?l : 3 o1l 75 % TRA 1000 3 ets were sold.
G800 w72 @ T 3 q W e & fefe #1 9 9 : 10 &
! (N Fr A o@ 22 1 8 TGS ® AR s § s oft Ak fem et @ aw
O 9t wem 701 82 fawen 180 ¥9w o 3 2200 fewe
(a) 2000  (b) 1000 a9 M A, 1 B & Toe (F9
() 3000  (d) 4000 #) ¥ g afs #0 €2
345. Priya's marks in History and (s) 44000 (B) 440000
Geography are in the ratio 5 : (c) 39600 (d) 396000
7 1If she got 14 marks more in o
Geography then in History 351. Rs 10,200 has to be divided be-
) o L tween A, B & C so that A gets
what dl\e her Histmy ]:nmkbp 2/3 of what B gets and B gets
Bfaer AR Tﬂﬂ | Ty = st # 1/4 of what C gets. How much
U 5 : 7 %1 AR 39 sfaem fw more does C get over A (in Rs)?
JaT | I 9 14 dAF Afow e 10,200 % A, B 3l C ¥ 3§ a%e =2
€ o =9 sfaer® d o o= faed €72 s f& A% B#1 2/3 firet efit Bt
(a) 49 (b) 42 C#l 1/4 faeil CH1 A9 e &y
(a) 6000  (b) 7200
_ _ _ (c) 1800  (d) 1200
847. According to the will, the 352. Before a battle there were the

wealth of 11, 50,000 was to be
divided between the son and
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ratio of captains to soldiers
was 2 : 7. During the war 25

|’ 745
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353.

354.

355.

captains and 100 soldiers were
martyred. The new ratio of cap-
tains to soldiers became 3 : 10.
What is the number of soldiers
after the war?

75 W Tee e AR et w1 e
2: 7 g B 20H 25 Hed T
100 faurt wiéte gu) s i faufeat
1 T4 AT 3:10 B ™ G5 F I8
famfeal =t e = w7

(a) 250 (b) 200

(c) 150 (d) 100

How many job applicants had
applied if the ratio of selected
to unselected was 19:17. If
1,200 less had applied and 800
less selected, then the ratio of

selected to unselected would

have been 1:1.

ARtt % Toau fvem staRe] 7 TR
foran o, afz =af@a s R—=afa
eS| % °rE 1 AU 19:17 41l
A | 200 FH AGETHT 7 AEIA HAT
21 3 800 IESH W A A,
=afTa 3R =t seeE & a4

1 AIE 1:1 Bl
(a) 6000  (b) 7200
(c) 8400  (d) 4800

The ratio of the sum of the sala-
ries of A and B to the difference
of their salanes 1s 11:1 and the
ratio of the sum of the salaries
of B and C to the difference of
their salaries is also 11:1. If A's

salary is the highest and Cis~

lowest then what 1s B's s ryj
(in Rs) gwen total of the
salaries 1s Rs 1,82,0 o

Aafﬂsﬁaaﬁﬂamwﬂmam
F SR A L)% ok Bk
C = A S A A S
1 }%IWAWW
S AW o e

T, B o9 (& ) o1 ¢, T&en
2 foF S71em w@ ST 1 82 000 € B2
(a) 72000 (b) 60000
(c) 50000 (d) 86400

If by increasing the price of a
ticket in the ratio 8:11 the
number of tickets sold fall in
the ratio 23:21 then what is
the increase (in Rs) in

746 |
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356.

357.

£ %

revenue if revenue before
increase 1n price of ticket was

Rs 36,800?

AfE 8:11 & H9A | fee & g
afs % o % @ A9 T e W
e | 2301 FUE | e St
T, o 4 g 9fs (T H) FE,
o foFe %1 773 7 g ¥ TS
TS 36,000 & &17

(@) 21250 (b) 9400

(c) 7850 (d) 12850

The ratio of ages of the father
and mother was 11:10 when
their son was born. The ratio
of ages of the father and
mother will be 19:18 when the
son will be twice his present
age. What 1s the ratio of

present ages of father and
mother?

e &R | 1 39 F1 9 11 |0f

352. San;év

the business and the other
half is distributed between the
partners, then how much does
C get (in Rs.)?
ABinCfFii =M d3:6:5%
oa ¥ e @ & A den C afen
TR (WA AriER) 21 FiE B
TER ¢ wm: e feww s R W
3/4 T S IEH AfERT UEH EH W
g afg 3% 50,000 ¥ = &Y Bl
T fomd 9 o e 1 T R |
fem e € i A # e
e+ T aﬁmm?m
C =1 foemny( L3 frem

(a) 006@9%_’;-\%} 6000
() J\U%jo" (d 9000

s test marks in two
‘subjects, English and Hindi

e ére in the ratio 7 : 11. If he got

o, 5 I S T S g A1l Wé

SR |l HT SF 61 ST 19:]
myﬁmwaﬁm%ﬁ“ﬁ
Eﬁﬂ*ﬁﬁmﬁlh?ﬁﬁ@r‘;ﬁﬁqﬁ
o 1 s 82 70/
(a) 15: 155{& V14 : 13
(c) 16 : 18, @] 17 : 16
Cost offg I:E‘ﬁc;.ls 5 pens and 3

erﬁ?{% ¥Rs 111. Cost of O pen-
46 _pens and 5 erasers is Rs

1} Cost of 16 pencils, 11 pens

C fw&and 3 erases is Rs 221 What is

L™

358.

the Cost (in Rs) of 39 pens and
13 erasers?

8 e, 5w 91 3 We I Hed 1115
®1 9 Uget, 6 FW A 5 WS F GA
130 % 1 16 9, 11 Fem a1 3 @
F e 221 T 1 30 W, 26 Fem a9l
13 @ & TA (% H) ¥

(a) 316 (b) 546

(c) 624 (d) 482

A, B, and C invest in a
business in the ratio3:6: 5
A and C are working partners.
Only B is sleeping partner

hence his share will be 3/4th
of what it would have been if

he were a working parnter. If
they make Rs. 50,000 profit,
half of which is reinvested in

361.

362.
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20 marks more in Hindi than
in English, what are his
marks in English?

< ot sfisht @R fe<t & den | Wi
% i = eud 70 11 21 afx st
Ft ga ¥ 34 fel 7 20 Hw afy
F foer €, @t st F 3@ s o=
firet?

(a) 35
(c) 45

(b) 55
(d) e4

According to the will the
wealth of Rs. 21,25,000 was to
be divided between the son
and the daughter in the ratio
7/6 : 5/3. How much did the
son get (in Rs.)?

FHFd # AR 21,25,000 wwAt
FEfaF @R d 7/6:5/
3% 9 | diel T GA Hi fHan
feem (v #) faen?

(a) 875000 (b) 12,50,000
(c) 10,00,000 (d) 11,25,000
Rizwan has a box in which he
kept red and blue marbles.
The red marbles and blue
marbles were in the ratio 5 :
4. After he lost 5 red marbles
the ratio became 10 : 9. How
many marbles does he have

www.spardha.guru



now?

fistam 3 oF 998 | @l 3R Feft
=i iferal Tt ¥ @ g e Tifeat
5: 4% opue W 7 5 @ e @
99 # 9% FTE 10 : 9 & Sl 2
SHF W e e i w82
(a) 81 (b) 86

(c) 76 @ 91

What number should be added
to each of the number 103,

135, 110 and 144 so that the
resulting numbers are in pro-

363.

portion?

103, 135, 110 3R 144 ¥ v dem &
S S s A e G
ROTHEEY AW S SO W OEi?
(a) 12 (b) 15

(c) 9 (d) 6

364. When ticket prices to a water

park are increased in the ra-
tio 11:12 then the number of
daily visitors to the park fall
in the ratio 8:7. If the daily
revenues before the increase
in ticket price was Rs
176,000, then find the daily
revenues after increase in
ticket price.

T UE gt uk § fewe w wimd
11:12 & &G § 9.% T @ & o
I 9wl & ATEET F G 87 #
sy § iR st €1 afy fowe #51 i

# gfig F § weet 2fF TS 176,000
& o, dl fee # #ma A 95 B

R U gl ST TeE am:x_)
(a) 264000 (b) 112000 %~
(c) 192000 (d) 168000

\9

/)(5@3 '
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(2)
(c)
(c)
(b)
(c)
(b)
(d)

O 0o =10 N b

(c)
- [8)
- le)
- (8
- o)
- le)
- )
- [e)
. c)
. la)
. 1d)
. (a)
. (d)
. e)
. e)
. =)
. le)
. (a)
- [b)
- b
: e)
. e)
. (a)
. d)
- (@)
- (&)
- [8)
- (d)
- (o)

G G Lo L0 QI G Q3 B BD BRI BRI BD B B BRI BRI BD 2 e e e e e e
Uk W OO0~ UNAE WK =00 0~00R W= O

L
~]

754 “

38.
39.
40.
41.
42
43.
44,
45.
46.
47.
48.
49,
50.
51.
52.
53.
54.
55.
56.
57.
58.
99.
60.
61.
62.
63.
64.
65.
66.
67.
68.
69.
70.
71.
72.
73.
74.

A
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(d)
(b)
(c)
[c)
(d)
(d)
(a)

(b)
[c)
(c)
(d)
b)
(a)
(a)
(d)
(d)
(d)
(d)
(a)
(c)
(a)
(c)
(b)
(a)
(c)
(c)
(b)
(a)
(c)
(b)
(d)
(d)
(=)
(c)
(b)
(b)

75.
76.
77.
78.
79.
80.
81.
82.
83.
84.
85.
86.
87.
88.
89.
90.
91.
92.
93.
94.
95.
96.
97.
98.
99.
100.(d)
101.(c)
102. (a)
103.(b)
104. (d)
105.(d)
106. (c)
107.(c)
108. (b)
109. (c)
110.(c)
111.(e)

(b)
(b)
&)
(b)
(2)
(b)
(d)
(c)
(c)
(a)
()
(c)
(c)
(c)
(d)
(&)
(c)
(b)
(c)
(&)
&)
(d)
(b)
(b)
(b)

@

‘e

>

T

ANSWER KEY

¥

112.(b)
113.(a)
114.(d)
115.(a)
116.(c)
117.(b)
118.(a)
119.(b)
120.(d)
121.(c)
122. (a)
123.(a)
124.(a)
125.(c)
126. (a)
127. (a)
128.(c)
129.(b)
130. (a)
131.(c)
132.(a)
133.(c)
134.(d)
135. (c)
136.(b)
137.(d)
138.(a)
139.(c)
140. (a)
141.(d)
142.(b)
143.(a)
144.(c)
145. (a)
146. {b]

147 .|
148

149.(c)
150.(c)
151.(a)
152.(d)
153.(c)
154.(d)
155.(a)
156.(d)
157.(a)
158.(b)
159.(b)
160.(d)
161.(d)
162.(a)
163.(c)
164.(c)
165.(c)
166.(d)
167.(b)
168.(b)
169.(d)
170.(b)
171.(b)
172.(b)
173.(c)
174.(c)
175.(b)
176.(d)
177.(a)
178.(b)
179.(b)

180.(a)™
181.
]

%3§§ d)

185.(a)
186.(a)
187.(c)
188.(d)
189.(d)
190.(d)
191.(d)
192.(c)
193.(b)
194 .(a)
195.(a)
196.(d)
197.(b)
198.(a)
199.(c)
200.(a)
201.(b)
202.(b)
203.(a)
204.(a)
205.(c)
206.(b)
207.(c)
208.(a)
209.(a)

s
45)(c)
_296.m)

D)

221.(d)
222, (d)
223, (d)
224 (c)
225 (c)
226, (d)
227 . (a)
228, (b)
229 (a)
230. (a)
231. (b)
232, (b)
233.(b)
234, (b)
235.(d)
236. (c)
237.(c)
238. (b)
239, (d)
240.(c)
241, (c)

242.{?
243, (€)%

47.(a)

48.(b)
249 (d)
250. (a)
251.(b)
252 (c)
253 (c)
254 (c)
255. (c)
256. (c)

e &

257. (a)
258. (c)
259. (b)
260. (d)
261.(c)
262. (b)
263. (b)
264. (b)
265. (c)
266. (c)
267. (b)
268. (b)
269. ()
270. (a)
271.(d)
272. {c}
273 -

g??

(d)
8 (d)
279. (b)
280. (d)
281. (a)
282. (a)
283. (a)
284. (c)
285 ()
286. (a)
287.(c)
288. (b)
289.(d)
290. (a)
291.(b)
292, (a)

293.(d) 329.(a)
294.(d) 330.(c)
295.(d) 331.(c)
296.(a) 332.(b)
297.(b) 333.(b)
298 (a) 334.(d)
299.(a) 335.(c)
300.(d) 336.(a)
301.(b) 337.(a)
302.(c) 338.(d)
303.(a) 339.(b)
304.(b) 340.(b)
305. (a)] 341.(b)
306°(e)lh  342.(0)
“30 343.(d)
%yﬁg.m} 344.(a)
.309. () 345.(d)
b 310.(b) 346.(a)
311.(d) 347.(d)
312.(d) 348.(d)
313.(a) 349.(a)
314.(b) 350.(a)
315.(c) 351.(a)
316.(d) 352.(a)
317.(c) 353.(b)
318.(b) 354.(b)
319.(d) 355.(b)
320.(c) 356.(a)
321 (c) 357.(b)
322.(d) 358.(c)
323.(b) 359.(a)
324.(a) 360.(b)
325.(b) 361.(a)
326.(a) 362.(c)
327.(a) 363.(c)
328.(c) 364.(d)
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